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Question Id : 87827025091 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the number of buildings constructed in six different towns A - F of a
state S over the seven years from 2016-2022. Based on the data in the table, answer the questions

that follow.
Town-wise Details of Buildings Constructed.

Yeart o6 o0t | 2018 | 2019 | 020 | 2001 | 2022

Town
A 13000 | 3160 | 3220 | 5272 | 3300 | 3320 | 3400

2500 | 2568 | 2640 | 2670 | 2792 | 2800 | 2900
2960 | 3000 | 3090 | 3100 | 3192 | 3200 | 3268
5448 | 3500 | 3600 | 3640 | 3664 | 3760 | 3792
2040 | 2100 | 2200 | 2230 | 2320 | 2350 | 2580
2277 | 2380 | 2460 | 2480 | 2530 | 2560 | 2588
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Sub questions

Question Number : 1 Question Id : 87827025092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Across the state 5, the total number of buildings constructed in 2016 is approximately
% of the total number of buildings constructed in 2018 ?

Options :

87827099041. 1
87827099042. 2
87827099043. 3

87827099044. 4

Question Number : 2 Question Id : 87827025093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the total number of buildings constructed in Town B over all the seven years ?
(1) 17870

) 18780

) 17780

) 18870
Options:
87827099045. 1
87827099046. 2
87827099047. 3

87827099048. 4



Question Number : 3 Question Id : 87827025094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

What is the percentage increase in the number of buildings constructed in Town D in 2018 with
reference to the previous vear ?

(1) 38 %

(2) 28 %

(3) 48 %

(4) 4%
Options :
87827099049. 1
87827099050. 2
87827099051. 3

87827099052. 4

Question Number : 4 Question Id : 87827025095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n the context of towns E and F together, what is the difference between the number of buildings
constructed in 2021 and that in 2017 ?

1) 630

) 830
) 430
4 410

H=

Options :
87827099053. 1
87827099054. 2

87827099055. 3

87827099056. 4



Question Number : 5 Question Id : 87827025096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Total number of buildings constructed over the years from 2020 to 2022 is more than 8500 in
exactly towns,

1) 2
Q) 3
3 4
4 5
Options :

87827099057. 1
87827099058. 2
87827099059. 3
87827099060. 4

Question Id : 87827025091 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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2016 | 2017 | 2018 | 2019 | 2020 | 2021 | 2022

3000 | 3160 | 5220 | 3272 | 3300 | 3320 | 3400
2500 | 2568 | 2640 | 2670 | 2792 | 2800 | 2900
2960 | 3000 | 3090 | 3100 | 3192 | 3200 | 3268
3448 | 3500 | 3600 | 3640 | 3604 | 3760 | 3792
2040 | 2100 | 2200 | 2250 | 2320 | 2550 | 2380
2072 | 2580 | 2460 | 2480 | 2530 | 2560 | 2588
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Sub questions

Question Number : 1 Question Id : 87827025092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S T ¥, 2016 H R s 1 et e 2018  F41 e ot i ) o el W (%) 2
1) 81

) 94
) 84
§) 74

2
3
Options :

87827099041. 1
87827099042. 2

87827099043. 3

87827099044. 4

Question Number : 2 Question Id : 87827025093 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

TR B H 9 guf | fafdd el =t Fe1 den oo 22

(1) 17870

(2) 18780
(3) 17780
(4) 18870
Options :

87827099045. 1
87827099046. 2
87827099047. 3

87827099048. 4

Question Number : 3 Question Id : 87827025094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR D ¥ 2018  fAftq el i wen & a au A qorn A fre wawd 9fg g R 7
(1) 385 %

(2) 285 %
(3) 485 %
(4) 4%
Options:
87827099049. 1
87827099050. 2
87827099051. 3
87827099052. 4

Question Number : 4 Question Id : 87827025095 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099053. 1
87827099054. 2
87827099055. 3
87827099056. 4

Question Number : 5 Question Id : 87827025096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827099057. 1
87827099058. 2
87827099059. 3
87827099060. 4

Sub-Section Number : 2
Sub-Section Id : 8782701096

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 6 Question Id : 87827025097 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which collaborative ICT tool allows user to create digital bulletin boards to share and gather
information ?

(1) X-mind
(2) Padlet

(3) Book creator
(4) Plotagon
Options :
87827099061. 1
87827099062. 2
87827099063. 3

87827099064. 4

Question Number : 6 Question Id : 87827025097 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827099061. 1



87827099062. 2
87827099063. 3

87827099064. 4

Question Number : 7 Question Id : 87827025098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : - In Round-Robin cooperative learning strategy, students work together to achieve
a common goal or complete a task,

Statement (1) : In group investigation cooperative learning strategy, students take turns sharing
their ideas, thoughts or solutions within their group.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement Iis correct but Statement II is incorrect
4

Both Statement [ and Statement II are incorrect

Statement I 1s mcorrect but Statement I1 is correct

Options :

87827099065. 1
87827099066. 2
87827099067. 3
87827099068. 4

Question Number : 7 Question Id : 87827025098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099065. 1
87827099066. 2
87827099067. 3
87827099068. 4

Question Number : 8 Question Id : 87827025099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Swayam Prabha channel (7 - Kautilya is related to which of the following subjects ?
A)  Economics

B) Library Science

D) Finance

E) Mathematics

Choose the correct answer from the options given below :
(1) (B), (D)and (E) Only

(2) (C)and (E) Only

(3) (A), (C) and (D) Only

) (8) () and (D) Only

Options:

(
(
(C) Commerce
(
(

87827099069. 1
87827099070. 2
87827099071. 3

87827099072. 4

Question Number : 8 Question Id : 87827025099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099069. 1

87827099070. 2

87827099071. 3
87827099072. 4

Question Number : 9 Question Id : 87827025100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n which strategy of cooperative learning, students are separated into an inner and outer circle
(In the inner circle, students have a discussion and students in the outer circle Listen to the
discussion) ?

(1) Snow ball

(2) Fishbowl

(3) Jigsaw

(4)  Think-pair-share

Options :



87827099073. 1
87827099074. 2
87827099075. 3

87827099076. 4

Question Number : 9 Question Id : 87827025100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099073. 1
87827099074. 2
87827099075. 3

87827099076. 4

Question Number : 10 Question Id : 87827025101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the examples of Information Development Model ?
A)  Self Awareness Model

B) Gagne's Information Model

(
(
(C) Jerome Bruner's Model
(D) Schuman’'s Model

(E)  Group Investigation Model

Choose the correct answer from the options given below :
(1) (A) (D) and (E) Only

(2) (B)and (D) Only

(3)  (B), () and (D) Only

(4) (A4) (€ and () Only

Options:

87827099077. 1

87827099078 2

87827099079. 3

87827099080. 4

Question Number : 10 Question Id : 87827025101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827099077. 1
87827099078. 2
87827099079. 3

87827099080. 4

Question Number : 11 Question Id : 87827025102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : The process of deduction involves drawing generalizable inferences out of
observations.

Statement (II) : Positivism advocates the application of the methods of the natural sciences to the
study of social reality.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2

Y
(3) Statement I s correct but Statement II is incorrect
4

Both Statement [ and Statement II are mcorrect

Statement I is incorrect but Statement II is correct
Options:

87827099081. 1

87827099082. 2

87827099083. 3

87827099084. 4

Question Number : 11 Question Id : 87827025102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099081. 1
87827099082. 2
87827099083. 3

87827099084. 4

Question Number : 12 Question Id : 87827025103 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the threats to the internal validity of an investigation :
(A) History

(B) Instrumentation

(C) Maturation

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (B) and (C) Only
(3) (A)and (C) Only
(4) (A), (B)and (C)
Options:

87827099085. 1
87827099086. 2
87827099087. 3

87827099088. 4

Question Number : 12 Question Id : 87827025103 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fordt ST <hl SATafiep derdT o 9id @adl ol 98 = iy ;
(A) Ffae™

(B) HTEFTRIUT (3ZHTA)

(C) YRgFH

== feu e fasredl § 9 WEr S F1 944 hif9C

(1) e (A) 3R (B)

(2) wad (B) R (O)

(3) I (A) 3R (C)

(4) (A), (B) 3R (O)

2

Options:

87827099085. 1
87827099086. 2
87827099087. 3
87827099088. 4

Question Number : 13 Question Id : 87827025104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : Pearson's coefficient of correlation r' is a very useful measure of the strength and
direction of the relationship between two nominal variables.

Statement (I1) : Pearson’s coefficient of correlation ‘1’ always lies between 0 and 1.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement I1 is incorrect
[

4)  Statement I s incorrect but Statement I s correct



Options :

87827099089. 1
87827099090. 2
87827099091. 3

87827099092. 4

Question Number : 13 Question Id : 87827025104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099089. 1

87827099090. 2

87827099091. 3

87827099092. 4

Question Number : 14 Question Id : 87827025105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following refers toa method of sampling in which a core group of participants who
are initially sampled for a research study recruit or recommend other potential participants ?

(1) Simple random sampling
(2) Snowball sampling

(3) Quota sampling

(4) Stratified random sampling
Options :
87827099093. 1
87827099094. 2
87827099095. 3

87827099096. 4

Question Number : 14 Question Id : 87827025105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099093. 1
87827099094. 2
87827099095. 3
87827099096. 4

Question Number : 15 Question Id : 87827025106 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) :  According to UGC regulations 2018 on Prevention of Plagiarism, a student is
tequired to give anundertaking while submitting a thesis, stating that the document
is his/her original work which is free from any plagiarism.

Statement (1) : According to UGC Regulations 2018 on Prevention of Plagiarism, the research
supervisor is not required to certify that the work done by the researcher under
himy/her is plagiarism free.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

2

2
(3) Statement I s correct but Statement II is incorrect
4

Both Statement [ and Statement II are incorrect

Statement I is incorrect but Statement II is correct

Options :

87827099097. 1
87827099098. 2
87827099099. 3
87827099100. 4

Question Number : 15 Question Id : 87827025106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827099097. 1
87827099098. 2
87827099099. 3

87827099100. 4

Question Number : 16 Question Id : 87827025107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In conversations, relevancy maxim means rnaking :

(1) Metaphoric remarks

(2) Allusions

(3) Pertinent comments

(4) Rudimentary comments
Options :

87827099101.1

87827099102. 2



87827099103. 3
87827099104. 4

Question Number : 16 Question Id : 87827025107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827099101. 1
87827099102. 2

87827099103. 3

87827099104. 4

Question Number : 17 Question Id : 87827025108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Failure to understand the cultural environment can lead to :
(1) Information richness
2

(2)  Exhibitionism
(3) High-brow communication
(4)

4 Miscommunication
Options :
87827099105. 1

87827099106. 2



87827099107. 3
87827099108. 4

Question Number : 17 Question Id : 87827025108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099105. 1
87827099106. 2
87827099107. 3

87827099108. 4

Question Number : 18 Question Id : 87827025109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Buddhist mode of inter-personal communication emphasises :
A) Unfettered use of language

(

(B) Unintelligible moral frames

(C) Symmetrical relations

(D) Consensus through interaction

(E) Verifiability of communication

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (O, (D) and (E) Onl

(4) (A), (B) and (E) Dnly,r
Options:

87827099109. 1
87827099110. 2
87827099111. 3

87827099112. 4

Question Number : 18 Question Id : 87827025109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099109. 1
87827099110. 2
87827099111. 3

87827099112. 4

Question Number : 19 Question Id : 87827025110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : Paralinguistic features express emotions and communicate personality traits.

Statement (1) : The subtle use of vocal inflections can provide special significance to verbal
Messages.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

87827099113. 1
87827099114. 2
87827099115. 3
87827099116. 4

Question Number : 19 Question Id : 87827025110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) IR Ko 1 G Terd &

(3) FUTIHEI 2, i o 17T &

(4) TR 2, W Fo 11961 ¢

Options :



87827099113.1
87827099114. 2
87827099115. 3

87827099116. 4

Question Number : 20 Question Id : 87827025111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Match List - T with List - II.
List - I List - II
(Type of meta communications) ~ (Description/Example)

(A) Explicit () Anaggressive gesture modified with a smile

(B) Implicit () Comments on others communication behaviour
(C) Verbal () Sarcastic remarks

(D) Non-verbal (IV) Comments about non-verbal behaviour

Choose the correct answer from the options given below :

(1) (AH), (BHID, (CH{I), (DHIV)

(2) (AL, (B-{IID), (CHIV), (D)D)
(3) (AR, (B)-1V), (G0, (DKL)
(&) (AFV), (B}, (), (D))
Options :

87827099117.1
87827099118. 2
87827099119. 3

87827099120. 4

Question Number : 20 Question Id : 87827025111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Telt-1 o WY Gell-11 &1 foer i .

Toit-1 -1
(fy-wywor o bW ) (0T )

(A) TR () e & T adell T Uk S S
(B) dfifed () 571 T o FYo 7R R fewfir

(©) ?nfﬁaa (I11) S Sferat

(D) TR-mfee (V) TR-ufeceh e o ai H feofral

19 feu T forehedl & § WE I A1 T HIC

(1) (A}, (B)-(I), (CHII, (D}IV)

(2)  (A)ID), (B)-(ImI), (C)-(IV), (D)-(T

(3)  (A)-(IID), (B)-(IV), (O)-(T), (D)-(I)

(4)  (A)(IV), (B)-(D), (O, (D)-(m)

Options :

87827099117. 1
87827099118. 2
87827099119. 3
87827099120. 4

Question Number : 21 Question Id : 87827025112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A milkman buys 20 litres of milk from a dairy at the cost of Rs. 50 per litre, He also purchases some
mineral water at the rate of Rs 20 per litre and adds it to the milk. He then sells the adulterated

milk at the rate of Rs 60 per litre and makes a profit of Rs 400. What is the amount of water he
added to the milk ?

(1) 10litre
() 8litre
(3) 5 litre
(4) 4 litre



Options :

87827099121. 1
87827099122. 2
87827099123.3
87827099124. 4

Question Number : 21 Question Id : 87827025112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T e <A % 50 YT el o e § 20 it g e 2| 9 €20 W et &l < ¥ o e
i ¥ e & o g8 gt o o & €1 Ao o 91 %60 W i < 9 o R 2400 T
St e | S 3 ot e W o e o)

10 et

Options:

87827099121. 1
87827099122. 2
87827099123.3
87827099124. 4

Question Number : 22 Question Id : 87827025113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of letters which will complete the following letter series.
aabcd - - - bedbe - - - dedab - - -

(1) abaabcedd
(2) abcabacdd
(3) abaabdcdd
(4) abcadbbed
Options:

87827099125. 1
87827099126. 2
87827099127. 3

87827099128. 4

Question Number : 22 Question Id : 87827025113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
firet 1em e &1 qof e o foTu S1eRi & & STHY 1 A e

aabed - - - bedbe - - - dedab - - -
(1) abaabcedd

(2) abcabacdd
(3) abaabdcdd
(4) abcadbbed
Options :
87827099125. 1
87827099126. 2
87827099127. 3

87827099128. 4

Question Number : 23 Question Id : 87827025114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Total monthly salary of a couple (husband and wife) is ¥ 2.0 lakh. Their salaries are in the ratio of
5:3. It husband and wife spend 40 % and 20 % of their salaries, respectively, what is the ratio of
their savings ?

() 3:2

(2] i
B Bud
( 1

2 O A

4
Options :

878270991209. 1
87827099130. 2
87827099131. 3

87827099132. 4

Question Number : 23 Question Id : 87827025114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 76 (o ) 8 T AT € 2.0 T €1 S o 9 o 5.3 £ 4 o
S-S0 T 1 O 40 % 920 % S A & ) 81 9 o 4 0 7

(1
Y
3)
4

5T B R |

LS5 5 S )

o

4

e B & 5 |

Options :

87827099129. 1
87827099130. 2
87827099131.3

87827099132. 4

Question Number : 24 Question Id : 87827025115 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding scheme :

‘Family values are important’ is written as “pa, ya, si, sa’
"Values are generally contagious’ is written as “ya, da, ja, sa’
‘Some diseases are mntagious’ is written as ‘ka, da, sa, ro’
What are the codes for ‘Contagious’ and “Values' ?

(1) da, sa

(2) da, si
(3) ka, ya
(4) da, ya
Options :

87827099133. 1
87827099134. 2
87827099135. 3

87827099136. 4

Question Number : 24 Question Id : 87827025115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T e @hiH 1,

“iftenfier ge mecyt € w1, W % w9 for 9w g
"I WG |G & 1, 1 S, 91 ok w9 H foran S e,
‘o T wighies & 1, @, 9@, ' % w9 foran g,
‘giafie’ 9 ‘gea’ % fau aF | Fe 77

(1) @&
(2) @, i
(3) LA
(4) T @
Options :

87827099133. 1
87827099134. 2
87827099135. 3

87827099136. 4

Question Number : 25 Question Id : 87827025116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the next term in the fu::llc:-wing number series ?
o Tl 0. B P e

(1) 176
(2) 155
(3) 142
(4) 186

Options :

87827099137. 1
87827099138. 2
87827099139. 3
87827099140. 4



Question Number : 25 Question Id : 87827025116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 o *jEen § o1 ug R W T ?
3,14, 39, 84, ?, - -

(1) 176

(2) 155

(3) 142

(4) 186
Options :

87827099137. 1
87827099138. 2
87827099139. 3
87827099140. 4

Question Number : 26 Question Id : 87827025117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is arranged in order of increasing denotation ?
(1) Cow, bovine, mammal, vertebrate, animal
(2) Mammal, Vertebrate, bovine, animal, cow
(3) Vertebrate, animal, mammal, bovine, cow
(4)

4)  Animal, Vertebrate, mammal, bovine, cow

Options:

87827099141. 1
87827099142. 2
87827099143.3

87827099144. 4



Question Number : 26 Question Id : 87827025117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefefad § 9 #19 9 SE (Ted gu) a%ad & TRy § oraferd & 7
(1) T, TSI, SO, Feh, 79
(2) EITRH, HERT, ST, T, T
(3)  RITERI, I, YR, ST, T
(4) T, RO, WY, TSI, T
Options :
87827099141.1
87827099142. 2

87827099143. 3
87827099144. 4

Question Number : 27 Question Id : 87827025118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement () :  Truth and falsehood are attributes of individual propositions.
Statement (I1) : Validity can be attributed to any single proposition by itself.

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2
3
(

Both Statement [ and Statement II are incorrect

4

)
) Statement I is correct but Statement II i incorrect
) Statement I is incorrect but Statement I is correct

Options:



87827099145. 1
87827099146. 2
87827099147. 3

87827099148. 4

Question Number : 27 Question Id : 87827025118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A ¢ oA feu U g

T (1) : T U6 7 e Yiewtad & €

oM (1) : 3w B @ el ft ook ot o o 2 e €

IR Y o Sf1clh H, el T 70 foehedi o § Hore SR ST ol 9 I
(1) e 3R HoW 11 3H T &

(2) R 1R HOR 11 S Terd ¢

(3) HUTIHEI &, wifehd ho 11777 &

(4) YT &, Wi Ho 1 He &

Options :

87827099145. 1
87827099146. 2
87827099147. 3

87827099148. 4

Question Number : 28 Question Id : 87827025119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which fallacy is committed in the following argument ?

“The universe must be spherical in form because all its constituent parts are spherical in form” ?
(1) Circular argument
(2) Red herring
(3) Slippery slope
¢

4) - Fallacy of composition

Options:

87827099149. 1
87827099150. 2
87827099151.3

87827099152. 4

Question Number : 28 Question Id : 87827025119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Frettan 7 % B 1 - T ¢ - e H e TR & <10 i 3066 94 e &
R e

Options :

87827099149. 1
87827099150. 2
87827099151.3
87827099152. 4

Question Number : 29 Question Id : 87827025120 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : The statement - “Pradeep’s mind is a cave : deep, dark and full of bats” is an
analogy which is only descriptive in nature.

Statement (II) : The statement - “Pradeep’s mind is a cave ; deep, dark and full of bats” is an
analogy which confains an argument,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement Iis correct but Statement II is incorrect
4

Both Statement [ and Statement II are incorrect

Statement I is incorrect but Statement II is correct

Options :

87827099153. 1
87827099154. 2
87827099155. 3
87827099156. 4

Question Number : 29 Question Id : 87827025120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e ) F foU T g

H () T, T, SR 0 T QR T ¢ 9% R TGV €
Wﬁﬂ:ﬁﬂ@ﬂfﬂ%ﬁl

O (11): "W 1 T, TR, SHE 90 TS N o 7 T € 1" 7 R WewAr & for
e fiefem

TR % el H, 77 0 70 Foereet o 9 T a1 90 1 9

(1) FRIERFRTH T2

(2) FORER B G T €

() HRIT & o TR0 ¢

(&) FERITR &, o R &

Options :

87827099153. 1
87827099154. 2
87827099155. 3

87827099156. 4

Question Number : 30 Question Id : 87827025121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (1) : Nyaya syllogism has three propositions
Statement (I1) : Aristotelian syllogism has five propositions

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

(2) Both Statement I and Statement II are incorrect
(3) Statement 1is correct but Statement II is incorrect
g

4)  Statement I s incorrect but Statement II is correct



Options :

87827099157. 1
87827099158. 2
87827099159. 3
87827099160. 4

Question Number : 30 Question Id : 87827025121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A g F TR

®UF (1) : AHEH 2§ A vt g €
oM (1) : SIS e H vy 2 €|
IR F4 % e H, Al 500 foehedi § | Ward e I A T HIC
(1) eI S et 11 3 T &

(2) o1 SR B 11 G Terd ¢

(3) YRR 2, elfer B 11 7erd ¢

(4) IR &, i Fo I H &
Options :

87827099157. 1

87827099158. 2

87827099159. 3
87827099160. 4

Question Number : 31 Question Id : 87827025122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is an online store house of all academic awards like certificates, diplomas,
degrees, marksheets etc. ?

(1) SWAYAM

(2) National Digital Library
(

(

)
3) National Academic Library
)

4)  National Academic Depository

Options:

87827099161. 1
87827099162. 2
87827099163. 3

87827099164. 4

Question Number : 31 Question Id : 87827025122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Foes 9 8 oo o, fevcon, T, e, o 0 e e, el 1 T e e
Tt

(1) (T o] U )

() TR s YR

() T SR

(4) T T FRATTT

Options :

87827099161. 1
87827099162. 2
87827099163. 3
87827099164. 4

Question Number : 32 Question Id : 87827025123 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
[dentify the correct sequence of the missing nits of data A-D that can be used to represent the size
of a file, as it changes in size. The units of data increase in size from smallest to largest as given
below.

bit

tera Byte (TB)
(A) byte
(B) gigabyte (GB)
(C) megabyte (MB)
(D) nibble
Choose the correct answer from the options given below :
(1) (O (A) (€ 6)

Q) (4., ), ()
(3) (D) (4) ), (C)
(4 (4).0) (€, B
Options :

87827099165. 1
87827099166. 2
87827099167. 3
87827099168. 4

Question Number : 32 Question Id : 87827025123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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)

Q

VE

|
(0D
) (4) B
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Options:

87827099165. 1
87827099166. 2
87827099167. 3

87827099168. 4

Question Number : 33 Question Id : 87827025124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : Wiki is usually represented in reverse chronological order, whereas blog has a
structure determined by content and users.

Statement (I1) : Blog is usually personal/someone’s opinion, whereas a wiki is usually objective.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement 115 incorrect but Statement I1 is correct

Options:

87827099169. 1
87827099170. 2
87827099171.3
87827099172. 4

Question Number : 33 Question Id : 87827025124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099169. 1
87827099170. 2
87827099171.3

87827099172. 4

Question Number : 34 Question Id : 87827025125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements A-E about firewalls in computer networks are true ?
) Firewalls are only available as hardware devices and only examine traffic entering a network,

B) Firewalls allow a user to set rules for network traffic.

D) Firewalls backup all data that is transmitted around a network.

(A

(

(C) TFirewalls will automatically stop all malicious trafic.

(

(E) Firewalls can be used to block access to certain websites.

Choose the correct answer from the options given below :
1) @) O ()Only

(2 (B)and (£} Onl

() (@) 0)and [ )ODIY
(4) (A)and (C) Only
Options:
87827099173. 1
87827099174. 2
87827099175. 3

87827099176. 4

Question Number : 34 Question Id : 87827025125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A e T foedl 0 R S o T Wi

(1) (4) (C) 3 (0

() B) 4 (5

() 4 (B), () 4 ()

() ¥ (4) 9 (Q

Options:

(
(
(
(

87827099173. 1
87827099174. 2
87827099175. 3

87827099176. 4

Question Number : 35 Question Id : 87827025126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List -1 List- 11
(Automatic data capture method)  (Description)

(A) OCR ()  System that reads pencil or pen marks on a piece of
paper in pre-determined positions

(B) OMR () System that reads characters printed in a special ink,
for example, the characters written at the bottom of
Bank cheque

(C) RFD (M) Reading data directly from hard copy and
converting into computer-readable form

(D) MICR (IV) Use of minute-electronic devices (containing
mictochip and antenna) that can read from distances
upto few minutes

Choose the correct answer from the options given below :

(1) (AHD, (3K, (-, (M)

(@) (A, BHI), (CH), D)

3) (AW, (B4, (CHIV), DK

[4) (AHV), (M, CHD, DK

Options :

87827099177. 1
87827099178. 2
87827099179. 3

87827099180. 4

Question Number : 35 Question Id : 87827025126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (A-{D), (BK{I), (C-{I, (DHIV)

(2) (AHI), (B-IV), (CHI, (DH()

(3) (KT, (B}, (CHIV), (DHT)

(4 (AHIV), (BM{ID, (C)(D) (DM{I)

Options:

87827099177. 1
87827099178. 2
87827099179. 3
87827099180. 4

Question Number : 36 Question Id : 87827025127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : The absence of fluoride in drinking water causes tooth decay.

Statement (I1) : Absence of fluoride in drinking water causes mottling of teeth also known as
dental fluorosis.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

87827099181. 1
87827099182. 2
87827099183. 3

87827099184. 4

Question Number : 36 Question Id : 87827025127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099181. 1
87827099182. 2
87827099183. 3

87827099184. 4

Question Number : 37 Question Id : 87827025128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) :  Under Montreal protocol developed and developing nations have differentiated
responsibilities,

Statement (1) : Under Kigali amendment of Montreal protocol, ChloroFhuoroCarbons (CFCs) and
HydroChloroFluoroCarbons (HCFCs) were to be phased out.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement [ and Statement II are correct

2
3
(

Both Statement I and Statement II are incorrect

4

)
) Statement 1 is correct but Statement II is incorrect
) Statement I is incorrect but Statement I is correct

Options:

87827099185. 1
87827099186. 2
87827099187.3

87827099188. 4

Question Number : 37 Question Id : 87827025128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e ) F foU T g

WO (1) T WP o ST foeet oI i < 3 e g €

B (1) ¢ W= TR o T e 3 SFe, T (1 ) 4 ) ) i
o (T3 ) O &) ) T, 70 8 A o 7 o

TR FF o e 6, e fe 0 el o 9 T I S ] o A

(1) TR FRIT T

() FORERHR A e &

() ORI ¢, o R [T ¢

({4) FURITEH &, oot R ¢

Options:

87827099185. 1
87827099186. 2
87827099187. 3

87827099188. 4

Question Number : 38 Question Id : 87827025129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : Naturally occurring Volatile Organic Compounds (VOCs) generally oxidize to
form Carbonmonoxide (CO) and Carbondioxide (CO,)

Statement (I1) : Anthropogenically emitted VOCs play an important role in the formation of smog

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement I1 is incorrect
[

4)  Statement I s incorrect but Statement I s correct



Options :

87827099189. 1
87827099190. 2
87827099191. 3

87827099192. 4

Question Number : 38 Question Id : 87827025129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099189. 1

87827099190. 2

87827099191. 3

87827099192. 4

Question Number : 39 Question Id : 87827025130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following gases has the maximum contribution to Global Warming ?
(1)  Chlorofluorocarbons (CECs)

(2) Methane (CH,)

(3) Sulfur Hexa fluoride (SF)

(4)  Carbon dioxide (CO,)

Options :

87827099193. 1

87827099194. 2

87827099195. 3

87827099196. 4

Question Number : 39 Question Id : 87827025130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :
87827099193. 1
87827099194. 2

87827099195. 3

87827099196. 4

Question Number : 40 Question Id : 87827025131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
Which of the following are true about Persistent Organic Pollutants (POPs) ?
A) They are extremely widespread and occur from tropics to Arctic.

B) They often accumulate in food webs and reach toxic concentrations.

D) They are widely used as flame retardants and in deodrants.

(

(

(C) Volatile Organjc Compounds (VOCs) are examples of POPs,
(

E

—

Some chemicals used in making non-stick, waterproof and stain-resistant products are
categorized ag POPs,

Choose the correct answer from the options given below :
(1) (A)(B) (C)and (D) OIﬂY

(2) (), (€), (D) and (E) Onl

(3) (&), (B), (D) end (£ )Onlv
(4 (4), (C)and (E) Onl
Options :

87827099197. 1
87827099198. 2
87827099199. 3

87827099200. 4

Question Number : 40 Question Id : 87827025131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099197. 1
87827099198. 2
87827099199. 3

87827099200. 4

Question Number : 41 Question Id : 87827025132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Hindu College in Banares set up by Annie Besant before Independence proposed to impart
(1)  Physical education

(2) Religious and moral education

(3) Western education

(4) Medical education

Options :

87827099201.1



87827099202. 2
87827099203. 3

87827099204. 4

Question Number : 41 Question Id : 87827025132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099201. 1
87827099202. 2
87827099203. 3
87827099204. 4

Question Number : 42 Question Id : 87827025133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following Universities was the largest in the initial years of Lord Curzon's regime ?
(1) Calcutta

(2) Madras
(3) Bombay
(4)  Punjab

Options:

87827099205. 1



87827099206. 2
87827099207. 3

87827099208. 4

Question Number : 42 Question Id : 87827025133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827099205. 1
87827099206. 2

87827099207. 3
87827099208. 4

Question Number : 43 Question Id : 87827025134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following were the recommendations of the first educational conference held at
Shimla in 1901 ?

A)  Appointment of only Indians as Vice-Chancellors of Indian Universities
B) Importance to teaching and research in Sanskrit

(
(
(C) A thorough reform of Indian Universities
(D) Appointment of a Director-General of Indian education
(E) Co-ordination of rules for examinations

Choose the correct answer from the options given below :

(1) (A) (B and (C)Only

2) () (C)and (D) Only

(3) (C), (D) and (E) Only

4 (4) () and 5 Ol

Options :

878270992009. 1
87827099210. 2
87827099211.3

87827099212. 4

Question Number : 43 Question Id : 87827025134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099209. 1
87827099210. 2

87827099211. 3

87827099212. 4

Question Number : 44 Question Id : 87827025135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the administrative reforms in universities suggested by the National
Knowledge Commission ?

(A) Appointment of vice-chancellors based on their academic and administrative credentials
(B) De-politicisation of appointments

(C) Centralised control of universities

(D) Restrictions on academic freedom

(E) Creation of a good research environment

Choose the correct answer from the options given below :

(1) (4) (3)and (O Only

(2) (3 (C)and D) Only

(3) (C),(D)and E )Onlv

[4) (4) ) and (5 Ol

Options :

87827099213. 1
87827099214. 2
87827099215. 3

87827099216. 4

Question Number : 44 Question Id : 87827025135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827099213. 1
87827099214. 2
87827099215. 3
87827099216. 4

Question Number : 45 Question Id : 87827025136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : The monastery of Vikramasila, possessed a University with six colleges.

Statement (1) : Vikramasila was a well-known centre of Tantric Buddhism and attracted students
from other countries,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

87827099217. 1
87827099218. 2
87827099219. 3

87827099220. 4

Question Number : 45 Question Id : 87827025136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099217. 1
87827099218. 2
87827099219. 3
87827099220. 4

Sub-Section Number : 3
Sub-Section Id : 8782701097
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827025137 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Bharat, the country of historical values and sentiments overflowing with cultures and religions,
changes with every mile, but is still known for preserving its rich cultural heritage. Moving towards
global tourism, the ministry of ports, shipping and waterways recently created an experience for people
that brought forth the historical, cultural and religious significance of our rivers, In January and February,
the global tourism and cruise sector was abuzz with the news of the world's longest river cruise MV
Ganga Vilas. The cruise covered nearly 32,000 K over 51 days, crossing 27 rivers systems across five
states and two countries, via the Ganga-Brahmaputra river system. Starting from the heart of Uttar
pradesh in Varanasi to Dibrugarh in Assam, it had several stops and visits to nearly 50 locations,

The Act East Policy of Prime Minister Narendra Modi and the focus on developing the national
waterways made this historic voyage a reality. It was also a true demonstration of Atmanirbhar Blarat
(self reliant India) with a domestically manufactured vessel, a fully Indian crew, Indian decor, Indian
cuisine, Indian art and craft, and products being showcased. The vessel with a zero-discharge policy
also used the Indian Oil Corporation manufactured green fuel with the Dolphin Deterrent Device.

Sub questions

Question Number : 46 Question Id : 87827025138 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The following are true about the country Bharat :
(A) It does not preserve its cultural heritage.
(B) It is overflowing with cultures.
(C) It does not have a variety of religions.
(D) It is a country of historical values.
Choose the correct answer from the options given below :
(1) (&), (B) and (C) Only
(2) (C) and (D) Only
(3) (A)and (C) Only
(4) (B) and (D) Only
Options :
87827099221. 1
87827099222. 2
87827099223. 3
87827099224. 4

Question Number : 47 Question Id : 87827025139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is correct about M V Ganga Vilas ?
(1) Itis a tourist spot.

2)

(3) Itis world’s longest reiver cruise.

(4) It covered nearly 32,000 Km over 27 days

It started from Haridwar.

Options:
87827099225. 1
87827099226. 2

87827099227. 3



87827099228. 4

Question Number : 48 Question Id : 87827025140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

M V Ganga Vilas is a true demonstration of self-reliant India because :
(A) The decor is done by Indian designers.

(B) It serves both Indian and Western cuisine.

(C) It showcases Indian arts and crafts.

(D) It is operated by an all Indian crew.

Choose the correct answer from the options given below :

(I) (A)and (B) Only
) (&), (), (C) and (D)
) (4), (C) and (D) Only
) |

(
3
(4)  (B), (C) and (D) Only

4
Options :

87827099229. 1
87827099230. 2
87827099231. 3

87827099232. 4

Question Number : 49 Question Id : 87827025141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

“This historic voyage” refers to :

(1) Global tourism

(2) Act East Policy of Prime Minister Narendra Modi
(3) MV Ganga Vilas cruise

(4) Development of National waterways



Options :

87827099233. 1
87827099234. 2
87827099235. 3
87827099236. 4

Question Number : 50 Question Id : 87827025142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : MV Ganga Vilas is an environment friendly vessel.

Statement (IT) : MV Ganga Vilas is not indigenously manufactured vessel

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

(2) Both Statement I and Statement II are incorrect
(3) Statement I s correct but Statement I 15 incorrect
4

4)  Statement 1 is incorrect but Statement II is correct

Options :

87827099237. 1
87827099238. 2
87827099239. 3
87827099240. 4

Question Id : 87827025137 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827025138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099221. 1
87827099222. 2
87827099223.3

87827099224. 4

Question Number : 47 Question Id : 87827025139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :
87827099225. 1
87827099226. 2

87827099227. 3

87827099228. 4

Question Number : 48 Question Id : 87827025140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099229. 1

87827099230. 2

87827099231. 3
87827099232. 4

Question Number : 49 Question Id : 87827025141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099233. 1
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87827099235. 3

87827099236. 4

Question Number : 50 Question Id : 87827025142 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099237. 1

87827099238. 2

87827099239. 3

87827099240. 4

Archaeology
Section Id : 878270733
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 92



Number of Questions to be attempted : 92

Section Marks : 200

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 8782701098
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 51 Question Id : 87827025143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Three hoof prints of a sambar deer were preserved in the excavated deposit at :
(1) Adamgarh

(2) Sohagighat

(3) Baghor - II

(4) Rushikonda
Options :

87827099241. 1
87827099242. 2
87827099243. 3

87827099244. 4

Question Number : 51 Question Id : 87827025143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827099241. 1
87827099242. 2
87827099243. 3

87827099244. 4

Question Number : 52 Question Id : 87827025144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which ruler used the self-laudatory title ‘Sikandar-al-Sani’ in his coins ?
(1) Itutmish

(2) Balban

(3) Alauddin Khilji

(4) Muhammad bin Tughlaq
Options :

87827099245. 1
87827099246. 2
87827099247. 3
87827099248. 4

Question Number : 52 Question Id : 87827025144 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827099245. 1
87827099246. 2
87827099247.3

87827099248. 4

Question Number : 53 Question Id : 87827025145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The mesolithic site of Bagor is located on a
(1) River valley

(2) Sand dune

(3) Lake-side

(4) Hill top

Options :

87827099249. 1

87827099250. 2

87827099251. 3

87827099252. 4

Question Number : 53 Question Id : 87827025145 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099249. 1
87827099250. 2
87827099251. 3

87827099252. 4

Question Number : 54 Question Id : 87827025146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who suggested the division of the Palaeolithic into Lower, Middle and Upper phases ?
(1) Edouard Lartet

(2) P.F Subhm

(3) John Lubbock

(4) V. Gordon Childe

Options :

87827099253. 1

87827099254, 2

87827099255. 3

87827099256. 4

Question Number : 54 Question Id : 87827025146 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827099253. 1
87827099254. 2
87827099255. 3

87827099256. 4

Question Number : 55 Question Id : 87827025147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which ruler forbade the use of ‘Kalima’ on his coins ?

(1) Babar

(2) Akbar

(3) Shahjahan

(4) Aurangzeb
Options :

87827099257. 1
87827099258. 2
87827099259. 3
87827099260. 4

Question Number : 55 Question Id : 87827025147 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



forg o g o79e fagent W remr’ @ e o an?

(1) @R
(2) F
(3) VTSI
(4) SHGTSE
Options :

87827099257. 1
87827099258. 2
87827099259. 3
87827099260. 4

Question Number : 56 Question Id : 87827025148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Cenozoic era is divided in epochs.
(1) 4

(2) >

(3) 6

(4) 7
Options :

87827099261. 1
87827099262. 2
87827099263. 3
87827099264. 4

Question Number : 56 Question Id : 87827025148 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HASIES Fed qrTl H faved g1

() 4
(2) 5
(3) 6
(4) 7
Options:

87827099261. 1
87827099262. 2
87827099263. 3
87827099264. 4

Question Number : 57 Question Id : 87827025149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who was the last Kushana ruler to issue bilingual coing bearing Greek and Kharosthi legends ?
(1) Kijul Kadphises

) Wima Kadphises
) Kanishka - I
)

2
(3
(4) Huvishka

4
Options :

87827099265. 1
87827099266. 2
87827099267. 3
87827099268. 4

Question Number : 57 Question Id : 87827025149 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



g S T Y I o Foeh g0 T Ul e gTer el g feedl S fofe 77
(1) 3 Fewem

) fom Fefwag
3) HE -1
Y T

Options:

(
(
(

87827099265. 1
87827099266. 2
87827099267. 3

87827099268. 4

Question Number : 58 Question Id : 87827025150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Kautilya's Arthashastra mentions the counterfeiters of coins as :
(1) Kuta - Bimbatanka

(2) Kuta - Rupadarshaka

(3) Kuta - Rupakaraka

(4) Kuta - Adhikarni

Options :

87827099269. 1

87827099270. 2

87827099271. 3

87827099272. 4

Question Number : 58 Question Id : 87827025150 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Ifeed & A9 § el ge1 FHafaieti i #a T e

(1) e fa=es
(2) FT EURE
(3) T TIRRH
(4) Fe Aferar
Options:

87827099269. 1
87827099270. 2
87827099271. 3
87827099272. 4

Question Number : 59 Question Id : 87827025151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Dhauli rock edict of Ashoka is in
(1) Puri

(2) Bhubaneshwar

(3) Ganjam

(4) Kurnool

Options :

87827099273. 1
87827099274. 2
87827099275. 3
87827099276. 4

Question Number : 59 Question Id : 87827025151 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



379N k1 et frem o T fe@g?

(1) 9d
(2) YEYR
(3) T
(4) Fa
Options :

87827099273. 1
87827099274. 2
87827099275. 3

87827099276. 4

Question Number : 60 Question Id : 87827025152 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following sites is situated in another region barring rest of three ?
(1) Koldihwa

(2) Mahagada
(3) Mahadaha
(4) Panchoh
Options :
87827099277. 1
87827099278. 2
87827099279. 3

87827099280. 4

Question Number : 60 Question Id : 87827025152 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frmferfad & @ S o1 e 99 diF 9 o &9 § sfafied § 2
(1) e

(2) HeTe
(3) e
(4)
Options:

87827099277. 1
87827099278. 2
87827099279. 3
87827099280. 4

Question Number : 61 Question Id : 87827025153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following river banks the Chalcolithic site of Jodhpura is located ?
(1) Luni River

(2) Sahibee River

(3) Banas River

(4) Berach River

Options :

87827099281. 1

87827099282. 2

87827099283. 3

87827099284. 4

Question Number : 61 Question Id : 87827025153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T qrTveR Qe ‘S frefafed 8 9 g a6 & e sefen g2
1) T

(2) et T&t
(3) & Tl
(4) oTE T
Options :

87827099281. 1
87827099282. 2
87827099283. 3
87827099284. 4

Question Number : 62 Question Id : 87827025154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following sites did not reveal C - 14 date for the earliest evidence of Agriculture ?
(1) Koblihwa

) Lahuradeva
] Indari
) Tokwa

Options :

87827099285. 1
87827099286. 2
87827099287. 3
87827099288. 4

Question Number : 62 Question Id : 87827025154 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YA H ok Jo o fo f1 5 9 fofg e @ o - 14 fof 7 fiedt €2

(1) wiareg
(2) W
(3 T
(4) 2
Options :

87827099285. 1
87827099286. 2
87827099287. 3

87827099288. 4

Question Number : 63 Question Id : 87827025155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Harrapan Archaeological site Dholavira is located ?
(1) Runn of Kutch

(2) Gulf of Kambhat

(3) Island of Kadir

)
(4) Confluence of river Bhogawa and Sabarmati

Options :

87827099289. 1
87827099290. 2
87827099291. 3
87827099292. 4

Question Number : 63 Question Id : 87827025155 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TSUIT R Sty fod ¢

(1) FBHEH

(2) @I kI @rel |

(3) I &9 H

(4)  HFTEl AR FEEH o HITH T
Options:
87827099289. 1
87827099290. 2

87827099291. 3

87827099292. 4

Question Number : 64 Question Id : 87827025156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Abhisheka - Lakshmi’ type coin was introduced by :

(1) Axzilises

(2) Azes-1

(3) Maues

(4) Azes-1I
Options :

87827099293. 1
87827099294. 2
87827099295. 3
87827099296. 4

Question Number : 64 Question Id : 87827025156 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘rfitien st YRR i HE1l o1 Yedd e TR o ?
(1) ufsfeda
(2) TS -1
(3) e

(4) TS -1

Options:

87827099293. 1
87827099294. 2
87827099295. 3

87827099296. 4

Question Number : 65 Question Id : 87827025157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which Director General of Archaeological survey of India started the publication of Epigraphia
[ndica ?

(1) Alexander Cunningham
(2) James Burgess
(3) John Marshall
(4) Mortimer Wheeler
Options :
87827099297. 1
87827099298. 2
87827099299. 3

87827099300. 4

Question Number : 65 Question Id : 87827025157 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
R A T % TG mefewe | v e 1 e R S o)
1) Tiive i

Options :

87827099297. 1
87827099298. 2
87827099299. 3

87827099300. 4

Question Number : 66 Question Id : 87827025158 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The “Chakra - Vikrama’ type Gupta period coin was found from the _ hoard :
(1) Bayana

(2) Kalighat
(3) Jogalthamb
(4) Hasnan
Options :
87827099301. 1
87827099302. 2
87827099303. 3

87827099304. 4

Question Number : 66 Question Id : 87827025158 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

T4 el %1 = oy Jr #it el el Aty § e g g
(1) =4

(2) Tt

(3) ST

(4) =HIT

Options :

87827099301. 1
87827099302. 2
87827099303. 3

87827099304. 4

Question Number : 67 Question Id : 87827025159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which Indo-Bactrian ruler issued coins to commemorate his parents - Heliocles and Leodice ?
(1) Diodotus

2)  Demetrius

3

)
) Eucratides
g

(
(
(4) Strato-]

Options :

87827099305. 1
87827099306. 2
87827099307. 3

87827099308. 4

Question Number : 67 Question Id : 87827025159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

foy - oo e A a1 e 2feriet an o ferfem 1 agf ¥ foe o fopd?
(1) SArERd

=

) cHE
) e
) w1

4

2

(
(
(

Options :

87827099305. 1
87827099306. 2
87827099307. 3

87827099308. 4

Question Number : 68 Question Id : 87827025160 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Barliest mention of stamped metallic pieces and coins like nishka, Satamana and Karshapana are
n___

1
2
3
.

Ashtac yayi
Shatapatha Brahmana
Atharvaveda
Arthashastra

(1)
2
()
(4
Options :

878270993009. 1
87827099310. 2

87827099311. 3

87827099312. 4

Question Number : 68 Question Id : 87827025160 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SAfer 41 % ToRS) AR e, T, T O S Hgrail o o e el e €7

) e
IR LK
)

) S
Options
87827099309. 1
87827099310. 2

87827099311. 3
87827099312. 4

Question Number : 69 Question Id : 87827025161 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which Gupta ruler issued rhinoceros-slayer type coins ?
(1) Samudragupta

(2) Chandragupta-II

(3) Kumaragupta-I

(4) Kumaragupta-II

Options :

87827099313. 1

87827099314. 2

87827099315. 3

87827099316. 4

Question Number : 69 Question Id : 87827025161 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
7= 4 o 7 ek 7 T FEa1 R <k el 1 dere fopan ?
(1) ST

(2) =FTEE-1I
(3) FHRIE-I
(4) FARTRI
Options :

87827099313. 1
87827099314. 2
87827099315. 3

87827099316. 4

Question Number : 70 Question Id : 87827025162 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who discovered the site of Burzhom ?
(1) J. M. Casal

(2) Paterson and De Terra

(3) T. N. Khazanchi

(4) M. R. Mughal

Options :

87827099317. 1
87827099318. 2
87827099319. 3

87827099320. 4

Question Number : 70 Question Id : 87827025162 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

RIS FSTerd i @S fehd fora o012
(1) S.U4. T

(2) HITEA T El.

(3) LT Sl

(4) THIR HTo
Options :

87827099317. 1
87827099318. 2
87827099319. 3
87827099320. 4

Question Number : 71 Question Id : 87827025163 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following Ahar Culture site revealed the evidence of mud fortification ?
(1) Ahar

(2) Ganeshwar
() Gilund
(4)

4) Balathal

Options :

87827099321. 1
87827099322. 2
87827099323. 3

87827099324. 4

Question Number : 71 Question Id : 87827025163 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

RS HEapfa o o ey | gt & SPifeor & oy 9T g © 2

(1) @ere
() T
(3) FrIms
(4) ST
Options :

87827099321. 1
87827099322. 2
87827099323. 3
87827099324. 4

Question Number : 72 Question Id : 87827025164 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Coins with ‘Panch-nekame” legends were discovered from
(1) Taxila

(2) Amravati

(3) Arikamedu

(4) Kosambi
Options :

87827099325. 1
87827099326. 2
87827099327. 3

87827099328. 4

Question Number : 72 Question Id : 87827025164 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘g " sifufafiad gaTd wel § 9 i T R 2

(1) a&fere

(2) AUl

(3) Ty

(4)  hreTTEEt
Options :

87827099325. 1
87827099326. 2
87827099327. 3
87827099328. 4

Question Number : 73 Question Id : 87827025165 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

From which of the following sites, a set of animal foot prints alongwith Acheulian tools have been
discovered ?

(1) Palghat
2
3
4

) Isampur

) Hunsgi

] Attirampakkam
Options :
87827099329. 1
87827099330. 2
87827099331. 3

87827099332. 4

Question Number : 73 Question Id : 87827025165 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Fefetfad | fore qoeee § 7Y 78 Fog o 919 Tvger SeRl o6 Wit gt € 2

(1) TR
() WAR
(3) g

(4) ST
Options :

87827099329. 1
87827099330. 2
87827099331. 3

87827099332. 4

Question Number : 74 Question Id : 87827025166 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following epochs saw the first amphibians ?
(1) Cambrian
(2) Silurian
(3) Devonian
(4) Permian
Options:
87827099333, 1
87827099334. 2
87827099335. 3

87827099336. 4

Question Number : 74 Question Id : 87827025166 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ffafad o 59 e o gdyay Sva= & <99 2id €2

(1) <himEA
(2) TaqgREd
(3) Eafa
(4) it
Options :

87827099333. 1
87827099334. 2
87827099335. 3

87827099336. 4

Question Number : 75 Question Id : 87827025167 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following Vihara has unique apsidal plan with a vaulted roof ?
(1) Kondane

(2) Nasik

(3) Ellora

(4) Bedsa
Options:

87827099337. 1
87827099338. 2
87827099339. 3

87827099340. 4

Question Number : 75 Question Id : 87827025167 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ffetad | ford fagr i areg A9 719 T2 © Td o Hele ¢

(1) IvSH
(2) e
(3) T
(4) S
Options :

87827099337. 1
87827099338. 2
87827099339. 3

87827099340. 4

Question Number : 76 Question Id : 87827025168 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a component of post-processual archaeology ?
(1) Semiotics

(2) Deconstruction
(3) Hypothesis
(4) Structuralism
Options:
87827099341. 1
87827099342. 2
87827099343. 3

87827099344. 4

Question Number : 76 Question Id : 87827025168 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafad | M 3T gfkaes qUde 1 a3 78l @ ?
(1) Hikfas fagm
(2) faardresrTo
(3) UREReYAm
(4) HEAER
Options :

87827099341. 1
87827099342. 2
87827099343. 3

87827099344. 4

Question Number : 77 Question Id : 87827025169 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Contextual Archaeology was developed by
(1) Lewis Binford

(2) lan Hodder

(3) Edward Said

(4) Roland Barthes

Options:

87827099345. 1
87827099346. 2
87827099347.3

87827099348. 4

Question Number : 77 Question Id : 87827025169 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YT Qe 1 fam o g Topan T o ?
(1) 4 fore
(2) IIA Bl
(3) TgEE dHe
(4) TS TefE

Options :

87827099345. 1
87827099346. 2
87827099347. 3

87827099348. 4

Question Number : 78 Question Id : 87827025170 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The study of is called as archaeomalacology.
Glass

Options:

87827099349. 1
87827099350. 2
87827099351. 3

87827099352. 4

Question Number : 78 Question Id : 87827025170 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

% AT 1 G0 Yfaa faam wed 2

Options :

87827099349. 1
87827099350. 2
87827099351. 3

87827099352. 4

Question Number : 79 Question Id : 87827025171 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Who is the author of the book ‘man makes himself’ ?
(1) Charles Darwin

(2) Jacob Warsae

(3) V. Gordon Childe

(4) Robert Koldewey

Options:

87827099353. 1
87827099354. 2
87827099355. 3

87827099356. 4

Question Number : 79 Question Id : 87827025171 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“I9 Oo9 o9 9o% ' o AEE hHE 8 2

(1) =red eifed

(2) SieRd ARH

(3) . TIfeA anes

(4) T hleed
Options :

87827099353. 1
87827099354. 2
87827099355. 3

87827099356. 4

Question Number : 80 Question Id : 87827025172 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

EDM System used in field survey stands for :
(1) Electronic Distance Mapping

(2) Electronic Difference Mapping

(3) Electric Distance Measurement

(4) Electronic Distance Measurement

Options:

87827099357. 1
87827099358. 2
87827099359. 3

87827099360. 4

Question Number : 80 Question Id : 87827025172 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TS HA&TU H GART H 374 9l EDM I3 &1 93 1 © :
(1) Soiaeie fedg Aft
(2) TR fewHy At
(3) safeges feedd HsHe
(4) e fediy Hewie
Options :
87827099357. 1
87827099358. 2

87827099359. 3

87827099360. 4

Question Number : 81 Question Id : 87827025173 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The half-life of 14C is presently 5,730 years. The previous value was years.
(1) 5,368
(2) 5,468
(3) 5,568
(4) 5,608
Options:
87827099361. 1
87827099362. 2
87827099363. 3

87827099364. 4

Question Number : 81 Question Id : 87827025173 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

T 14 Y TG TGHA H 5,730 T ¢ [ W FeH 14 B AGHY |
(1) 5,368

(2) 5468

(3) 5,568
(4) 5,668
Options:
87827099361. 1
87827099362. 2
87827099363. 3

87827099364. 4

Question Number : 82 Question Id : 87827025174 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which dating technique is suitable for early hominin fossils in East Africa ?
(1) Potassium Argon

(2) Argon-Argon

( 3) l4c

(4) AMS
Options:

87827099365. 1
87827099366. 2
87827099367. 3

87827099368. 4

Question Number : 82 Question Id : 87827025174 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el Sl § W e W 7l o Ty e o @ daeis S g7
(1) el &
3T - S

Options :

87827099365. 1
87827099366. 2
87827099367. 3
87827099368. 4

Question Number : 83 Question Id : 87827025175 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who coined the term ‘Mesolithic” 7
(1) C. J. Thomsen

(2) Westropp

(3) ]. Lubbock

(4) Pitt Rivers
Options :

87827099369. 1
87827099370. 2
87827099371. 3

87827099372. 4

Question Number : 83 Question Id : 87827025175 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“Ioifafas’’ s & gadE ©
(1) &Sl gr\eA

(2) IEM

(3) . sk

(4) T9e fEg

Options :

87827099369. 1
87827099370. 2
87827099371. 3

87827099372. 4

Question Number : 84 Question Id : 87827025176 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sittanavasal caves are located in districts of Tamil Nadu.
(1) Pudukottai

(2) Perambalur

(3) Madurai

(4) Thanjavur

Options :

87827099373. 1
87827099374. 2
87827099375. 3

87827099376. 4

Question Number : 84 Question Id : 87827025176 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

faamamee T dfrerTg & fSiet H srafed g
(1) Y5

(2) TR

(3)

(4) TSI

Options :

87827099373. 1
87827099374. 2
87827099375. 3
87827099376. 4

Question Number : 85 Question Id : 87827025177 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following temples is regarded as a gem of Orissan architecture ?
(1) Konark

(2) Muktesvara
(3) Brahmesvara
(4) Rajarani
Options :
87827099377. 1
87827099378 2
87827099379. 3

87827099380. 4

Question Number : 85 Question Id : 87827025177 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafes gl  #iF @ ufet i galee ISR T aH 9 € 2

(1) IR
(2) HHR
(3) W
(4) TSRAT
Options :

87827099377. 1
87827099378. 2
87827099379. 3
87827099380. 4

Question Number : 86 Question Id : 87827025178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

n which of the following caves at Ajanta, the Scene of Mahaparinirvana is depicted ?
1) Cave No.9

I

(1

(2) Cave No. 19
(3) Cave No. 26
(4) Cave No. 29

Options :

87827099381. 1
87827099382. 2
87827099383. 3

87827099384. 4

Question Number : 86 Question Id : 87827025178 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

sreian &t e sl # forad weaRfraior o gwa sifea g7

(1) TEH9

(2) T®E. 19

(3) T H. 26

(4) T H. 29
Options :

87827099381. 1
87827099382. 2
87827099383. 3
87827099384. 4

Question Number : 87 Question Id : 87827025179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Hoysalesvara temple at Halebid is a temple :
(1) Eka Kuta

(2) Dvikuta

(3) Trikuta

(4) Panchakuta
Options :

87827099385. 1
87827099386. 2
87827099387. 3

87827099388. 4

Question Number : 87 Question Id : 87827025179 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Folfas T graweiver A i<t g1
(1) Thge

(2) fege

(3) e

(4) TIEHS
Options :

87827099385. 1
87827099386. 2
87827099387. 3
87827099388. 4

Question Number : 88 Question Id : 87827025180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who is writer of “History of Warwick shire” ?
(1) Charles Darwin

(2) Charles Loyll

(3) Michael Marcati

(4) William Dagdale

Options :

87827099389. 1

87827099390. 2

87827099391. 3

87827099392. 4

Question Number : 88 Question Id : 87827025180 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“fedt 3T aifde IR & oS i B 7

(1) =red erfed

(2) <red AFd

(3) HEHhA FHEI

(4) fafeam erea
Options :

87827099389. 1
87827099390. 2
87827099391. 3
87827099392. 4

Question Number : 89 Question Id : 87827025181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following Scholars has devided time” in many epoches from beginning of earth to till
date ?

(1) Darwin
(2)  Georges Cuvier
(3) Carnden

(4) Nicholas Robett
Options :
87827099393. 1
87827099394. 2
87827099395. 3

87827099396. 4

Question Number : 89 Question Id : 87827025181 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T % 9 org Torgr 7 9t o S 9 oot 3119 0 % "W o o e § oo o 7

(1)
(2) S e
(3) Fmed
(4) fral fae
Options :

87827099393. 1
87827099394. 2
87827099395. 3

87827099396. 4

Question Number : 90 Question Id : 87827025182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Where the Ashmolean Museum is situated ?
(1) Oxford University

(2) Cambridge University

(3) Pennsylvania University

(4) Bonn University

Options:

87827099397. 1

87827099398. 2

87827099399. 3

87827099400. 4

Question Number : 90 Question Id : 87827025182 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
STEHITA IR el W Haferd 8 ?
(1) wE favafame
(2) kit favafame™
(3) UfgerafTar favafazma™
(4) o fovafaera=
Options :
87827099397. 1
87827099398. 2

87827099399. 3

87827099400. 4

Question Number : 91 Question Id : 87827025183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

From which of the following sites, Ostrich eggshell beads in Upper Palaeolithic context have been
ound ?

f

(A) Patne

(B) Bhimbetka
(C) Adamgarh

(D) Chandresal

Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2) (A)and (C Only
3) (B)and (C)Onl

4 (and (D )Only

Options:



87827099401. 1
87827099402. 2
87827099403. 3

87827099404. 4

Question Number : 91 Question Id : 87827025183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Fae H o gl § 3 o S § afiga () o 478 e § e el 1 i
e

(D) T

el fou o foered) 9 WE) S 1 T S
{ 4 ()
() A (4) 9 Q)
3 B) & (C)
(

)
) 0
) 7 B
4) I (A) R D)
Options :
87827099401. 1
87827099402. 2
87827099403. 3

87827099404. 4

Question Number : 92 Question Id : 87827025184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

The copper plate grants of Prabhavati Gupta are found from and
(A) Basim

(B) Poona

(C) Siwani

(D) Riddhapur

Choose the correct answer from the options given below :

(1) (A)and (B) Only

@) (8)and (C) Oul

(3) (A)and (D )Onlv

(4) (B)and (D) Only

Options :

87827099405. 1
87827099406. 2
87827099407. 3

87827099408. 4

Question Number : 92 Question Id : 87827025184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Y T o T T S 3R 4 I gL T
(A) dIfEH

(B) T

(C) THarl

(D) ReT

T fou v fosredl § § W& 39X 1 F9H HIWU
(1) ac (A) 3R (B)

(2) e (B) 3R (C)

(3) A (A) 3 (D)

(4) o (B) 3R (D)

Options :

87827099405. 1
87827099406. 2
87827099407. 3

87827099408. 4

Question Number : 93 Question Id : 87827025185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The earliest inscriptions recording royal land grants associated with privileges and exemptions are
ound from which of the following sites ?

f

(A) Naneghat

(B) Nast

(C) Karle

(D) Pitalkhora

Choose the correct answer from the options given below :
(1) (A)and (B) Only

Q) (4)and (C) Only
(3) (B)and (C) Only
() (4 and (D) Only
Options:

878270994009. 1
87827099410. 2
87827099411. 3

87827099412. 4

Question Number : 93 Question Id : 87827025185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827099409. 1
87827099410. 2
87827099411.3

87827099412. 4

Question Number : 94 Question Id : 87827025186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following rulers were the signatories of the treaty mentioned in the Boghazkeui
inscription ?

(A) Mittani King Matiwaza

(B) Persion King Xerxes - I

(C) Hitfite King Suppiluliuma

(D) Egyptian King Ptolemy V

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (8) and (C) Ol

(3) (A)and (C )Only
(4) (B)and (D) Only
Options:
87827099413. 1
87827099414 2
87827099415. 3

87827099416. 4

Question Number : 94 Question Id : 87827025186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freAferfiaa o o Tl + aiTstenrs atfvrerd W 3fectfad Sy e T gt fo a7
(A)  THT I wides

(B) UfeH VI SHeHTS! YoM

C) fexih s guiteyfersm

(D) g o et v

ﬁﬁumﬁw@fﬁﬁqﬁmwwaﬂm:
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2
(
(

=

3

4)
Options :

87827099413. 1
87827099414. 2
87827099415. 3

87827099416. 4

Question Number : 95 Question Id : 87827025187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following republics issued coins in the names of their presiding deities ?
(A) Shibi

(B) Audumbara

(C) Trigarta

(D) Kuninda

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (A)and (D) Only
(3) (B)and (C) Only
(4) (B)and (D) Only
Options:

87827099417. 1
87827099418. 2
87827099419. 3
87827099420. 4

Question Number : 95 Question Id : 87827025187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freferfed § fom Torea 7 7o Yo <al Sadiehi o A 9 YRR fha 2
(A)

(€) fm

(D) FHfr=

g feu T fosredl § 9 Wl 39N 1 99 HifSU
(1) % (A) 3R (B)

(2) % (A) R (D)

(3) @& (B) IR (C)

(4) e (B) ¥R (D)

Options :

87827099417. 1
87827099418. 2
87827099419. 3
87827099420. 4

Question Number : 96 Question Id : 87827025188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following computer programs are used for calibrating radio carbon dates ?
(A) Oxcal

(B) GiN

(C) CALIB

(D) AMS

Choose the correct answer from the options given below :
(1) (A)and (B) Only

) (B)and (C) Ony
(3) (A)and (C) Only
(4) (A) and (D) Only
Options:
87827099421. 1
87827099422. 2
87827099423. 3

87827099424. 4

Question Number : 96 Question Id : 87827025188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e e fafy fafer otw wem | = 9 fafer v o oE S 2

(A) Oxcal

(B) GIN

(C) CALIB

(D) AMS

= fou Tu foemedl d 9 WE ST 6 T4 Fife
(1) %ad (A) ¥R (B)

(2) %@ (B) SR (O)

(3) A (A) 3 (C)

(4) A (A) SR (D)



Options :

87827099421. 1
87827099422, 2
87827099423. 3
87827099424. 4

Question Number : 97 Question Id : 87827025189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The earliest nickel coins in the world were issued by :
(A) Diodotus

(B) Euthydemus

(C) Pantaleon

(D) Agathocles

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only

(3) (A)and (C) Only

(4) (C) and (D) Only

Options:

87827099425. 1
87827099426. 2
87827099427.3

87827099428. 4

Question Number : 97 Question Id : 87827025189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



forgar § grifuer fehet faeer ST fohd 71 9

(A) THEIERY
(B) FUieHH
(C) Yerfedm
(D) sEnifeRTd

= feu v fasredi § 9 W&t 39T &1 997 hifSU ;
(1) e (A) 3R (B)

(2) <EE (B) 3R (C)
(3) e (A) 3R (C)
(4) ad (C) 3R (D)
Options :

87827099425. 1
87827099426. 2
87827099427. 3

87827099428. 4

Question Number : 98 Question Id : 87827025190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are derivative dating techniques ?
(A) Amino Acid Racemisation (AAR)

(B) Obsidian Hydration Technique

(C) Potassium Argon Dating

(D) Accelerator Mass Spectrometry

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (A)and (C) Only

(3) (B)and (C) Only

(4)  (A) and (D) Only
Options :
87827099429. 1
87827099430. 2
87827099431. 3

87827099432. 4

Question Number : 98 Question Id : 87827025190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafaa § SF gsq fafy Fefor awie & 2
(A) T 37 fagetoo

(B) SeHITEAT BB dehrlh

(C) dreferem s fafy

(D) THAR T W

== feu U fasedi § 9 Wl 3L 1 9594 Fif9Q
(1) e (A) 3R (B)

(2) e (A) 3R (C)
(3) ad (B) 3R (C)
(4) EE (A) 3R (D)
Options :

87827099429. 1

87827099430. 2

87827099431. 3
87827099432. 4

Question Number : 99 Question Id : 87827025191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following sites have Buddhist architecture of Gandhara tradition ?
(A) Charsada

(B) Manikyala

(C) Mathura

(D) Sanghol

Choose the correct answer from the options given below :
(1) (A)and (B) Only

) (A)and (C) Only

) (B) and (C) Only

) (A) and (D) Only

Options :

87827099433. 1

87827099434 2

87827099435. 3

87827099436. 4

Question Number : 99 Question Id : 87827025191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freAferfiad ¥ for Joerell § TR WO % Sl S0 i Wi el ¢ |
(A) TEG

(B) HferareT

(C) we

(D) HHE

3 few U forehedi H Y W IR T T FAC
(1) 9 (A) 3R (B)

(2) ®aE (A) ¥ (C)

(3) % (B) ¥R ()

(4) ®ad (A) ¥R (D)

Options :

87827099433. 1
87827099434. 2
87827099435. 3
87827099436. 4

Question Number : 100 Question Id : 87827025192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Ashokan pillars at Rampurva have finials with :
(A) Elephant

(B) Horse
(C) Lion
(D) Bull

Choose the correct answer from the options given below :
(1) (A) and (B) Only
(2) (A)and (C) Only
(3) (B) and (D) Only
(4) (C)and (D) Only

Options:

87827099437. 1
87827099438. 2
87827099439. 3

87827099440. 4

Question Number : 100 Question Id : 87827025192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



gLl § fegd 31eiieh &4l & 9y W T

(A) =it
(B) EIr
(C) fue
(D) drg

== feu U fasedi § 9 Wl 3L 1 9594 Fif9Q
(1) aﬂa(maﬁ‘mﬁ)

(2) FEE (A ) (©)
(3) FFA (B) R R
(4) ad (C) 3R (D)
Options :

87827099437. 1
87827099438. 2
87827099439. 3

87827099440. 4

Question Number : 101 Question Id : 87827025193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The four lion capital of Ashokan pillars can be seen at :
(A) Vaishali

(B) Sarnath

(C) Rampurva

(D) Sanchi

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B)and (C) Only

(3) (A) and (D) Only
(4) (

Options:

87827099441. 1
87827099442. 2
87827099443. 3

87827099444. 4

Question Number : 101 Question Id : 87827025193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IR fe i Zo 19Tk Ty el femE 2 8 2

(A) eIt
(B) WA
(C) L&l
(D) @t

== feu U fasedi § 9 Wl 3L 1 9594 Fif9Q
(1) e (A) 3R (B)

(2) <EE (B) 3R (C)
(3) e (A) 3R (D)
(4) FFd (B) 3R (D)
Options :

87827099441. 1
87827099442. 2
87827099443. 3

87827099444. 4

Question Number : 102 Question Id : 87827025194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who are the authors of the book “Excavations at Inamgaon” ?
(A) S, N. Rajguru

(B) H. D. Sankalia

(C) M. K. Dhavalikar
(D) Z.D. Ansari

Choose the correct answer from the options given below :
(1) (4), (B) and (C) Only
(2) (A), (©) and (D) Only
(3) (B), (C) and (D) Only
(4)  (A), (B) and (D) Onl
Options:

87827099445. 1

87827099446. 2

87827099447. 3

87827099448. 4

Question Number : 102 Question Id : 87827025194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



" T T SIS IS o W@ HiF © 7

(A) THT. TSTE
(B) TWH.El Wikl
(C) TH.. Yaaihl
(D) we.El. Fgrt

= feu v fased °§ 9 Wel 9T &1 994 hifu .

(1) & (A), (B) ¥R (C)
(2) EE (A), () ¥R (D)
(3) ad (B), (C) ¥R (D)
(4) T4 (A), (B) ¥R (D)
Options :

87827099445. 1
87827099446. 2
87827099447. 3

87827099448. 4

Question Number : 103 Question Id : 87827025195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The excavations at Anangpur in Badarpur Hills, Delhi has revealed :
(A) Hominid fossil

(B) Early Acheulian tools

(C) Late Acheulian tools

(D) Palaeo-channels of Yamuna

Choose the correct answer from the options given below :
(1) (4), (B) and (C) Only

(2) (A), (B) and (D) Only

(3) (B, (C) and (D) Only

(4) (A), (C) and (D) Only

Options:

87827099449. 1

87827099450. 2

87827099451. 3

87827099452. 4

Question Number : 103 Question Id : 87827025195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



feeett d IETqX RSl & ST & 3@ | U g7 @ ¢
(A) HFe §H SiEmed

(B) URMeh T YR

(C) Iadl Te SUHII

(D) FHA1 7! =1 G YeTE Torred!

== feu e faedi °§ 9 WEt 39 &1 F994 Fifay
(1) ad (A), (B) 3R (C)

(2) Ee (A), (B) R (D)

(3) e (B), (C) IR (D)

(4) Fad (A), () R (D)

Options :

87827099449, 1

87827099450. 2

87827099451. 3

87827099452. 4

Question Number : 104 Question Id : 87827025196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to Sankalia, Upper palaeolithic burins may have been used :
(A) as engraving tools

(B) for hafting stone tools

(C) for making grooves in wood or bone

(D) for hunting

Choose the correct answer from the options given below :
(1) (A), (B)and (C) Only

) (4), (B) and (D) Only
) (A), (C) and (D) Onl
) |

2
3
(4) (B) (C) and (D) Oﬂly

1
Options:

87827099453. 1
87827099454. 2
87827099455. 3

87827099456. 4

Question Number : 104 Question Id : 87827025196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HiehfeTdl o STTER 39 GUUTIofes SR o1 YA foha S o
(A) IR FH TTel ITH F &Y H
(B)  OTSTUT SYHTUN o &l o feru
3 3w § Wi e % o
(D) form &g
=i feu U fasredi ° 9 WEr 39 F1 FIF P ;
(1) %ad (A), (B) ¥R (Q)
(2) Fad (A), (B) ¥R (D)
(3) W(A)()aﬁ?(m
(4) < (B), (C) 3 (D)
Options :
87827099453. 1
87827099454, 2

87827099455. 3
87827099456. 4

Question Number : 105 Question Id : 87827025197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Gurdip Singh analysed pollens from the following salt lakes :
(A) Sambhar

(B) Didwana

(C) Pushkar

(D) Lunkaransar
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (A), (B) and (D) Only
(3) (B), (C) and (D) Only
(4) (A), (C) and (D) Only
Options:

87827099457. 1

87827099458. 2

87827099459. 3

87827099460. 4

Question Number : 105 Question Id : 87827025197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TG fifg 3 1 @R 9 St i @ WG W wi o fager g
(A) TR

(B) feeam

(C) Tt

(D) FHTH

%mwﬁﬁﬁﬁﬁuﬁmwwﬁm:

(1) 84 (), (B) 3R ()
(2 (A), (B) ¥R (D)
(3 (B), (C) ¥R (D)
(4 (A), (C) &R (D)

%’%’%

)
)
)
)

Options :

87827099457. 1
87827099458. 2
87827099459. 3
87827099460. 4

Question Number : 106 Question Id : 87827025198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following findings are from the ashmound site of Utnur ?
(A) Wheel made pottery

(B) Cattlepen
(C) Cattle hoof prints
(D) Stone blades

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (A), (C) and (D) Only
(3) (A), (B)and (D) Only
(4) (B, (C) and (D) Onl
Options:

87827099461. 1
87827099462. 2
87827099463. 3
87827099464. 4

Question Number : 106 Question Id : 87827025198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AR @ I ¥ = ° 9§ 3 wiftasr gt ® 7
(A) =RHHT gEuUe

(B) RSS!
(C) Ty ==
(D) T&R &S

= feu v fasredi § 9 W&t 39T &1 997 hifSU ;
(1) e (A), (B) 3R (O)

Options :

87827099461. 1
87827099462. 2
87827099463. 3

87827099464. 4

Question Number : 107 Question Id : 87827025199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following sources mention the transfer of Ashoka pillars to Delhi from Topra and
Meerut by Firuz Shah Tughlaq ?

(A) Futuhat-i-Firuz Shahi

(B) Tarikh-i-Firuz Shahi

(C) Sirat-i-Firuz Shahi

(D) Kitab-i-Firuz Shahi

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (A)and (O Only
(3) (B)and (C) Onl

(4) (B)and (D) Only
Options:

87827099465. 1
87827099466. 2
87827099467. 3

87827099468. 4

Question Number : 107 Question Id : 87827025199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Frefian  f =1 5 RS ST e 370 9T f o 21 o v 9 el v o
el T &7

o)
A
B)
B)

(1) el
@) (Ao
(3) % (B)
[4) I (B) 3
Options:

87827099465. 1
87827099466. 2
87827099467. 3

87827099468. 4

Question Number : 108 Question Id : 87827025200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following inscriptions refers to famine relief ?
(A) Mahasthan

(B) Eran

(C) Hathigumpha
(D) Sohgaura
Choose the correct answer from the options given below :
(1) (A) and (B) Only
(2) (B)and (C) Only
(3) (C) and (D) Only
(4) (A) and (D) Only
Options:

87827099469. 1
87827099470. 2
87827099471. 3

87827099472. 4

Question Number : 108 Question Id : 87827025200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



forAferfad & #1 ¥ el ¥ s Ted #) gE W 2 8 2
(A) WA

(B) T

(C) B

(D) HEm

e feu 7u fawredl d 9 W& UL &1 99 Hifu
(1) e (A) 3R (B)

(2) 9 (B) ¥R (C)

(3) el (C) ¥R (D)

(4) 9 (A) R (D)

Options :

87827099469. 1
87827099470. 2
87827099471. 3

87827099472. 4

Question Number : 109 Question Id : 87827025201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following books are written by Dilip, K. Chakrabarti ?
(A) Archaeology of India

(B) The early use of Iron in India

(C) Trade and Traders in early Indian Society

(D) The External Trade of the Indus Civilization
Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only
(3) (A) and (D) Only
(4) (B) and (D) Only
Options:

87827099473. 1
87827099474. 2
87827099475. 3

87827099476. 4

Question Number : 109 Question Id : 87827025201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frreaferfian o o Teashl &1 o fel %, et 3 fFen 82
(A) enfdharrst i sfoean

(B) T el sl &H® I T gfvea

(C) ¢¢ UUs ¢ed 3 3l 3ived HEme

(D) T T <€ % € grey fafaemgsivd

g feu U fasred § 9 WE 39T &1 99 i

(1) < (A) 3R (B)

(2) R (

(3) A (A) 3R (D)
(4) I (
Options :

87827099473. 1

87827099474, 2
87827099475. 3

87827099476. 4

Question Number : 110 Question Id : 87827025202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The spoked wheel plan of Buddhist Stupas are seen at the following sites :
(A) Amravati

(B) Bhattiprolu

(C) Nagarjunakonda
(D) Taxila

Choose the correct answer from the options given below :
(1) (A)and (B) Only
(2) (B) and (C) Only
(3) (A)and (C) Only
(4) (C) and (D) Only
Options:
87827099477. 1
87827099478. 2
87827099479. 3
87827099480. 4

Question Number : 110 Question Id : 87827025202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freferfiad form e 1, SR 39 <k F1em1 aTdl dig U od 9 § 2
(A)

(B)

(C) MRS

(D) d&fer

3 few T forsred © TR I T
(1) e (A) SR (B)

(2) 9 (B) $R ()

(3) e (A) 3 (C)

(4) a (C) ¥R (D)

Options :

87827099477. 1
87827099478. 2
87827099479. 3

87827099480. 4

Question Number : 111 Question Id : 87827025203 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Horsegram and ragi are reported from the following neolithic-chalcolithic sites of Karnataka.
(A) Maski

(B) Paiyampalli

(C) Hallur

(D) Tekkalakota

Choose the correct answer from the options given below :

(1) (A)and (B) Only

) (B)and (O Ol

) (A)and (C )Only

) |

4 (C)and (D) Only

&
Options:

87827099481. 1
87827099482. 2
87827099483. 3

87827099484. 4

Question Number : 111 Question Id : 87827025203 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et 31 W Feedh o ettt Foareniores-aTauioes e § Sfadfed 1 T ¢ -
(A) e

(B) omTe

C) T

(D) i Hg

el fou T fospedl | © W I T I ;
(1) ¥ (4) 3R (B

(2) e (B) R (O)

(3) A (A) 9 (C)

(4) = (O) ¥ (D)

Options :

87827099481. 1
87827099482. 2
87827099483. 3

87827099484. 4

Question Number : 112 Question Id : 87827025204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Lothal is located between and
(A) Sabarmati river

(B) Rangoli river

(C) Ghaggar river
(D) Bhogavo river
Choose the correct answer from the options given below :
(1) (A)and (B) Only
(2) (B)and (C) Only
(3) (A)and (C) Only
(4) (A) and (D) Only
Options:

87827099485. 1
87827099486. 2

87827099487. 3
87827099488. 4

Question Number : 112 Question Id : 87827025204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



RIC] 3R 51 o g erafd B

(A) HERTd! El
(B) I &t
(C) ®FER &l
(D) e e

== feu U fasedi § 9 Wl 3L 1 9594 Fif9Q
(1) e (A) 3R (B)

(2) <EE (B) 3R (C)
(3) e (A) 3R (C)
(4) EE (A) 3R (D)
Options :

87827099485. 1
87827099486. 2
87827099487. 3

87827099488. 4

Question Number : 113 Question Id : 87827025205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Daimabad metal hoard discovered in 1974 consisted of bronze sculptures including following
animals :

(A Rhinoceros

(B) Horse

(C) Elephant

(D) Lion

Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2) (A)and (C) Only
(3) (B)and (C) Only
(4) (B)and (D) Only
Options:
87827099489. 1
87827099490. 2
87827099491. 3
87827099492. 4

Question Number : 113 Question Id : 87827025205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1974 % G T S o P A fr o 9 o el fop i T fred & 7
(A) T

(B) g

(C) el

(D) foe

<R e e Foemen 2 W SR 8
(1) ac (A) &R (B)

(2) T (A) 3 ()

(3) F (B) 4R (C)

(4) e (B) 4R (D)

Options :

87827099489. 1
87827099490. 2
87827099491. 3
87827099492. 4

Question Number : 114 Question Id : 87827025206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following sites belong to the Savalda Culture ?
(A) Kaothe

(B) Diamabad

(C) Gilund

(D) Jodhpura

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B)and (C) Only
(3) (C) and (D) Only
(4) (B) and (D) Only
Options:

87827099493. 1
87827099494. 2
87827099495. 3

87827099496. 4

Question Number : 114 Question Id : 87827025206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafad § $F g geee g 9 gafud &2

(A) IS
(B) THEE
(©) fra=
(D) SIHYY

== feu U fasedi § 9 Wl 3L 1 9594 Fif9Q
(1) e (A) 3R (B)

(2) <EE (B) 3R (C)
(3) ad (C) 3R (D)
(4) FFd (B) 3R (D)
Options :

87827099493. 1
87827099494. 2
87827099495. 3

87827099496. 4

Question Number : 115 Question Id : 87827025207 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following archaeologists excavated the Upper Palaeothic sites at Baghor- ?
(A) G. R Sharma

(B) H. D Sankalia

(C) J.D.Clark

(D) A. K. Sharma

Choose the correct answer from the options given below :
(1) (4)and (B) Only

@) (8)and (C) Onl

(3) (A)and (C) Only

(4) (A)and (D) Only

Options:

87827099497. 1
87827099498. 2
87827099499. 3

87827099500. 4

Question Number : 115 Question Id : 87827025207 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefetfierd o febt qufere) = 3= GO STeR - [ el ol Sea o 17
(A) .3

(B) TSl Hehtfern

(C) W& Fih

(D) ek, vHi

ﬁmmﬁw‘fﬁﬁnﬁmaﬂwﬁm:

(1 A) ¥R (B)

2 ) 3R (C)
(
(

=

=
& &% F %

5 ) SR (C)

(
(
(
4 (A) 3T D)

EEE|

)
)
)
)

Options :

87827099497. 1
87827099498. 2
87827099499. 3
87827099500. 4

Question Number : 116 Question Id : 87827025208 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following parts of the Dravida Vimana from base to tap :
(A) Stupi

(B) Prastara

(C) Griva

(D) Bhitti

Choose the correct answer from the options given below :

(1) (A) B)(©), D)
2

(
3
(

Options:

87827099501. 1
87827099502. 2
87827099503. 3
87827099504. 4

Question Number : 116 Question Id : 87827025208 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

afae famm o 7= S =l SR 9 foret 9 sHafer Hifem
(A) =

(B) W&

(C) e

(D) fufd

A few 7 foeredi | | WEl 3T 1 =5 HIST

(1) (A), (B), (O), (D)
(2)  (B), (A), (D) (©)
(3) (O, D) (B), (4)
(4) (D), (B), (O), (A)



Options :

87827099501. 1
87827099502. 2
87827099503. 3

87827099504. 4

Question Number : 117 Question Id : 87827025209 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following Scripts in a chronological order from earliest to the latest :
(A) Sharada

(B) Nagari

(C) Kharosthi

(D) Siddhamatrika

Choose the correct answer from the options given below :

1) () (®)(©), D

(2) (B), (D) (A4) ©
(3) (©, D) () ()
(@) (D) (©) (4), B
Options:

87827099505. 1
87827099506. 2
87827099507. 3

87827099508. 4

Question Number : 117 Question Id : 87827025209 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafaa fafrl = g @ TdHa9 & Fesy § afed Sife

(B) TRl

(C) Bl

(D) fogmIHEH

e feu 7u fasedi § 9 W& S H T S0
(1) (A) (B) (C), (D)

(2) (B). (D), (A), (©)

(3) (©), (D), (B), (A)

(4) (D) (©), (A), (B)

Options:

87827099505. 1
87827099506. 2
87827099507. 3

87827099508. 4

Question Number : 118 Question Id : 87827025210 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following geological periods in a chronological order from earliest to latest :
(A) Silurian

(B) Permian

(C) Devonian

(D) Cambrian

Choose the correct answer from the options given below :

(1) (&) ) ©), ©)

(2) () (C), D) (A
3) (C, D) @A) (B
(4) (D) (&), ©), ()



Options :

878270995009. 1
87827099510. 2
87827099511. 3
87827099512. 4

Question Number : 118 Question Id : 87827025210 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freffiad o F1e # YR § ad9H % F FEER STt i
(A) facfe

(B) e

(C) e

(D) e

i< fou T fosedl ¥ © W IR B 9 i ;

(1) (A) ®), (), D)
(2) (B), () D) (A
() (© D) (A) B
(4) (D) (A4), O

Options:

)
)
)

878270995009. 1
87827099510. 2
87827099511. 3
87827099512. 4

Question Number : 119 Question Id : 87827025211 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Arrange the following parts of temple of Kalinga in order from top to bottom :
(A) Gandi

(B) Bada

(C) Beki

(D) Pista

Choose the correct answer from the options given below :
(1) (4)©), D) 6

2 (€, (A) B), D)
(3) (D) (A) (©), B)
(4) () (A) D) (©Q
Options :

87827099513. 1
87827099514. 2
87827099515. 3

87827099516. 4

Question Number : 119 Question Id : 87827025211 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frrferfan o #feim v % Afedl & o W 8 T B oir sftem Fifu ;
(A) Tt

(B)

(C)

(D) fue

T fou Tu fasedl | 4 a3 T FifC ;

(1) (A) (©), D), (B)
(2) (O, (4), (B), (D
(3) (D), (A) (©), (B
(4) (B) (A), (D), (C

Options:

)
)
)

87827099513. 1
87827099514. 2
87827099515. 3

87827099516. 4

Question Number : 120 Question Id : 87827025212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Arrange the following temples chronologically from earliest to latest :
(A) Parasuramesvar

(B) Mukteswar
(C) Rajarani
(D) Brahmesvara

Choose the correct answer from the options given below :
(1) (B) (C), (&) D)

(2) (O B) (A) D)
() (D) (©) (A), (B)
(4) (A) (B), (C), D)



Options :

87827099517. 1
87827099518. 2
87827099519. 3
87827099520. 4

Question Number : 120 Question Id : 87827025212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
freAferiad wiet 1 FARHHR T ¥ Talaq § SHafeed ifau ;
(A) TTGUHT

(B) HHITH

(C) TSI

(D) FEHaR

A1 feu T fakedi | 9 Wl 3T 1 95 I
(1) (B), (©), (A), (D)

(2) (©), (B), (A), (D)

(3) (D), (O, (A), (B)

(4) (A), (B), (©), (D)
Options:

87827099517. 1
87827099518. 2
87827099519. 3
87827099520. 4

Question Number : 121 Question Id : 87827025213 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Arrange the following Harappan sites from North to South :
(A) Kot Diji

(B) Surkotada

(C) Banawali

(D) Ropar

Choose the correct answer from the options given below :
(1) (B D) (A), ()

(2) (D), (©), (A), (B)
(3) (D) (A) (©), (B)
(4) (B), (O), (A), (D)

Options :

87827099521. 1
87827099522. 2
87827099523. 3

87827099524. 4

Question Number : 121 Question Id : 87827025213 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frreferfEad geuita qUee i 3T 9 SfEu i 3R Hafed Hife :
(A) RIS

(B) TR

(C) =l

(D) ITg

= feu T faspedi § 9 Wél 39 H1 99 HIfC

(1) (B), (D) (A), (O

(2) (D) (©), (A), (B
(3) (D) (A) (©), (B
4)  (B) (O, (A), D

Options:

)
)
)

87827099521. 1
87827099522. 2
87827099523. 3
87827099524. 4

Question Number : 122 Question Id : 87827025214 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Arrange the following temples chronologically from earliest to latest
(A) Shore temple, Mamallapuram

(B) Gangaikonda Cholapuram temple

(C) Jagannath temple at puri

(D) Vishnu temple at Deogah

Choose the correct answer from the options given below :

(D) (B) (4), (©), D)



Options :

87827099525. 1
87827099526. 2
87827099527. 3

87827099528. 4

Question Number : 122 Question Id : 87827025214 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

et Hiet 1 FHeRrHIER YR § Faaq #id | sard Hifa ;
(A) VIR HfE, AR

(B)  THIERIVS ST HicY

(C) I 1 1Y HfcT

(D) & 1 fowy ey

= fou Tu foshedi § 9 el I 1 T Fifore

(1) () (A), (©), D)

(2) (D) (Q) (B) (A
(3) (D) (4), (B) (C
(4) (A) (B) (C), (D

Options:

)
)
)

87827099525. 1
87827099526. 2
87827099527. 3

87827099528. 4

Question Number : 123 Question Id : 87827025215 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Arrange the following temples of Goddesses from North India to South India :
(A) Parvati temple at Nachna-Kuthra

(B) Viraja temple at Jaipur

(C) Kamakhya temple

(D) Meenakshi temple

Choose the correct answer from the options given below :

(1) Q) (4), (), D)

2) (A) B) (©), D)
(3) (D) (B) (©), (&)
(4) (B) (D) (A) Q)
Options :

87827099529. 1
87827099530. 2
87827099531. 3

87827099532. 4

Question Number : 123 Question Id : 87827025215 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafad <t Hiedl I 3 a9 S0 YRA &1 SR Hafed Fifs
(A) o FSU F1 YR it
(B) IS &1 forarst wfet

(C) hHmEAT Higt
it HeT
= feu T fasedi | 9 W S &1 T I ;
(1) (©), (A), (B), (D)
(2) (A), (B) (©), (D)
(3) (D), (B) (©), (&)
(4) (B), (D), (A), (©)
Options:

87827099529. 1
87827099530. 2
87827099531. 3

87827099532. 4

Question Number : 124 Question Id : 87827025216 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Arrange the following Buddhist sites starting from North India to South India.
(A) Sanchi

(B) Amaravati

(C) Kapilavastu

(D) Ajanta

Choose the correct answer from the options given below :

(1) (©), (A), ©), (B)

) (), D), (A), (B)
) (8)(©), (A) D)
) )

D), (C), (A), (B

(
3
(4



Options :

87827099533. 1
87827099534. 2
87827099535. 3
87827099536. 4

Question Number : 124 Question Id : 87827025216 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

feeAfeTfige ol JUrerel] bl ST WA § &7 WA i S SHafed ST ;
(A)
(B) Rl

(C) e
(D) S
1 feu T fashedi § ¥ TEt I 1 T i :
(1) (©), &), D), B)
@) (©), D) (A), B)
(3) (B) (Q), (&), D)
@) (D) (©) (A) B)
Options:
87827099533. 1
87827099534. 2
87827099535. 3
87827099536. 4

Question Number : 125 Question Id : 87827025217 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Arrange the following major rock edicts of Ashok from South India to North India :
(A) Girnar

(B) Dhauli

(C) Kalshi

(D) Erragud

Choose the correct answer from the options given below :

1) (D)) (4) ©)

2 (©) ®) &) O)
(3) () (4), (), ©)
@) (©), D), (), 6)
Options :

87827099537. 1
87827099538. 2
87827099539. 3

87827099540. 4

Question Number : 125 Question Id : 87827025217 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Al 319 o 9ed fcTeral o e 9IRd § ST 9RA 31 R SHaed Hifo ;
(A) fRT
(B) e
(C) FeH

(D) W

wirel e T fordhedl o 4 W S B T I
(1) () (B) (4) €

2) (©) ®), (A), D)
(3) () (4), () D)
(4) (€, D), (A) (B)
Options:
87827099537. 1
87827099538. 2
87827099539. 3

87827099540. 4

Question Number : 126 Question Id : 87827025218 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Harappan sites Excavator

(A) Chanhudaro (I) J. P. Joshi

(B) Kot-Diji (II) Aurel Stein

(C) Sutkagendor (III) F. A. Khan

(D) Surkotda (IV) N. G. Majumdar

Choose the correct answer from the options given below :
(1) (A1), (B)-1), (O)-(1I), (D)-(IV)

(2)  (A)-(1), (B)-(), (©)-(IV), (D)-(1)

(3) (AU, (B)-(IV), (O)-(), (D)-(11)

(4)  (A)-1V), (B)-(IT), (O)-1D), (D)-()

Options :

87827099541. 1

87827099542. 2

87827099543. 3

87827099544. 4

Question Number : 126 Question Id : 87827025218 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % T GeA-11 %1 o wifs

TS Qe @rsTehdt
(A) =FES (D S Sl
(B) hIeEtsit (I) 3 WA
(C) HhRNER () TR &M
(D) HThIE (IV) WA, H5HER

= feu Tu fasreqi § 9 W& 39 1 F97 HifAU

(1) (A)-(D), (B)-(IT), (O)-(III), (D)-(IV)
(2)  (A)-(10), (B)-(ID), (C)-(IV), (D)-(I)
(3)  (A)-(ID), (B)-(IV), (O)-(1), (D)-(I)
(4)  (A)-(IV), (B)-(IM), (O)-(I0), (D)-(I)
Options:

87827099541. 1
87827099542. 2
87827099543. 3

87827099544. 4

Question Number : 127 Question Id : 87827025219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
Vastu diagrams Number of Squares
(A) Mahapitha Iy 25
(B) Upapitha (I) 16
(C) Ugrapitha (IIT) 49
(D) Sthandila (IV) 36

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(I), (O, (D)-(IV)

(2)  (A)-(D), B)-(IV), (©)-(1), (D)-(L)
(3)  (A)-(D), (B)-(UD), (O)-(1V), (D)-(D)
(4)  (A)-(IV), (B)-(I), (C)-(1I), (D)-(IM)
Options :

87827099545. 1
87827099546. 2
87827099547. 3

87827099548. 4

Question Number : 127 Question Id : 87827025219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % T GeA-11 %1 o wifs
qeit-1 geEli-11

T, G I Rl GEAT
(A) TEMHS I 25
(B) 3UUlS 1) 16
(C) 3Udre (II1) 49
(D) ¥aHfed (IV) 36

= feu Tu fasreqi § 9 W& 39 1 F97 HifAU

(1) (A)-(D), (B)-(IT), (O)-(IID), (D)-(IV)
(2)  (A)-(10), (B)-(IV), (C)-(D), (D)-(I)
(3)  (A)-(ID), (B)-(I), (O)-(IV), (D)-(I)
(4)  (A)-(IV), (B)-(D), (O-(1D), (D)~(II)
Options:

87827099545. 1
87827099546. 2
87827099547. 3

87827099548. 4

Question Number : 128 Question Id : 87827025220 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Greek coin legends Kharosthi equivalent terms
(A) Basileos (I) Rajarajasa
(B) Basileon (II) Mahatasa
(C) Sotoros (II) Maharajasa
(D) Megalou (IV) Tratarasa

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(I), (O)-(IID), (D)-(IV)

(2) (A, (B)-(1), (O-(1V), (D}-(L)
(3) (A1), (B)-(1D), (Q)-(D), (D}-(1V)
(4)  (A)-1V), (B)(I), (O-(), (D)-(0)

Options :

87827099549. 1
87827099550. 2
87827099551. 3

87827099552. 4

Question Number : 128 Question Id : 87827025220 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YEAl-1 % H1e Geil-11 1 e #ifs
qeil-1 gEi-11

picR:CIRCC] TR WUl ug
(A) dfgfasmg 1) TSSH
(B) «fgfesiA (II) weqd
(C) HRERH (1) H&TsH
(D) HETS: (IV) IdtH

== feu v fasedl § | WEt ¥ h1 997 HifIu ;

(1) (A)-(1), (B)-(I), (O)-(I1D), (D)-(IV)
(2) (A, (B)-(T), (O-(1V), (D)-(I)
(3)  (A)-(I), (B)-(II), (O)-(D), (D)-(IV)
(4)  (A)-(IV), (B)-(IID), (O)-(1D), (D)-[0)
Options:

87827099549. 1
87827099550. 2
87827099551. 3

87827099552. 4

Question Number : 129 Question Id : 87827025221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

List - I List - II

Vrishni Heroes Cosmological concept
(A) Vasudeva Krishna  (I) Supreme reality
(B) Samkarshana (II) Matter
(C) Aniruddha (III) Cosmic self consciousness
(D) Pradyumna (IV) Cosmic mind

Choose the correct answer from the options given below :
(1) A)-D), B)-(1), (O, (D)-(IV)

(2)  (A)-1D), (B)-(), (©)-(1V), (D)-()

(3) (A1), (B)-(IV), (O-{1), (D)-(I)

(4)  (AHIV), (B)-(D), (O-(11), (D))

Options :

87827099553 1

87827099554. 2

87827099555. 3

87827099556. 4

Question Number : 129 Question Id : 87827025221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % T GeA-11 %1 o wifs

qeit-1 geEli-11
T 3rafed @

(A) oS FO 1) THTA

(B) He&HU (II) 9ehfd

(C) sfTEs (III) SEHISHE 3cH =al
(D) YegH (IV) SEHIUE™ HHEY

ﬁ%ﬁ{qmﬁaﬁ@rﬁ@uﬁmwwaﬁm

(1) (A)-(D), (B)-(IT), (O)-(III), (D)-(IV)
(2)  (A)-(10), (B)-(ID), (C)-(IV), (D)-(I)
(3)  (A)-(ID), (B)-(IV), (O)-(1), (D)-(I)
(4)  (A)-(IV), (B)-(D), (O-(1D), (D)~(II)
Options:

87827099553. 1
87827099554. 2
87827099555. 3

87827099556. 4

Question Number : 130 Question Id : 87827025222 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - II

Editors Volumes of corpus Inscriptionum Indicarum
(A) E. Hultzsch ) Vol. I Kharosthi Inscription
(B) Sten Konow () Vol. IV Inscriptions of the Kalachuri-Chedi era
(C) J.E. Fleet () Vol. IMInscriptions of the early Gupta kings and their successors
(D) V.V Mirashi (IV) Vol I Inscriptions of Ashoka

Choose the correct answer from the options given below :

)
1
1

(1) (AX{D) (BHI), (CH{I), (DHIV)
(2) (AMI, (B (CH1V), (D)0
(3)  (AMLV), (BHI), (CHIL), (DHI)
(4) (AMI, (BH{IV), (CH1) (D)
Options:

87827099557. 1
87827099558. 2
87827099559. 3

87827099560. 4

Question Number : 130 Question Id : 87827025222 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tell-1 & T4 Geft-I1 %1 foefr e
Teit1 -1l
(A) 3 () e G
(B) wABH (1) T IV $Hhr A 3 Fegh |t T
(€ T e (H A I SHAR € 9t T f T o e
(D) ., el V) agH [ 3R S S
Hﬁﬁwﬁaﬁﬁﬁﬁqﬁrmwwﬁm:
(1) (A1), (Bl-(I), (CHI, (DHIV)
(@) (AMI), B)-(m), ©-IV), -
() (AMIV), (BN, (), (D))
(4)  (A)MI, B)-IV), (-, D[
Options :
87827099557. 1
87827099558. 2

87827099559. 3

87827099560. 4

Question Number : 131 Question Id : 87827025223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - I List - II
Authors Books
(A) J. N. Banerjea ()  History of India
(B) T. A. Gopinatha Rao (II
(C) D. C. Sircar (I
(D) K. P. Jaiswal (IV) Development of Hindu Iconography

) The successors of the satavahanas
II) Elements of Hindu Iconography

Choose the correct answer from the options given below :

(1) (A}D), B)-(I), (C)-(), (D}IV)

(2) (A, B)-), ©-1V), (D)-0)
(3) (A, B}-IV), (O-{1), (D)
(4)  (A)-(IV), (B)-(ID), (O)-(I), (D)-{)
Options :

87827099561. 1
87827099562. 2
87827099563. 3

87827099564. 4

Question Number : 131 Question Id : 87827025223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



To-1 % Fg a1 1 foerm #1 ;
gil-I gl-1I

ek Tw
(A) ST, St () Te=l st sfoea
(B) LT, TdTeRTE () & HHeEH S FifaES
(C) S THR () TEAH=H i g sTEahmm
(D) .4l STEEETd (IV) STAuH= 3 &g SR
= feu U fashedi § 9 W@ IHT A1 99 HIf ;

(1) (A1), (B)-(I), (O, (D}(IV)
(2) (A1), (B)-(I), (O)-(IV), (D)-(0)
(3)  (A)-(I), (B)-(IV), (O)-(1), (D)}(I)
(4)  (A)-IV), (B)-(I), (C-(I), (D)-0)
Options:

87827099561. 1

87827099562. 2

87827099563. 3

87827099564. 4

Question Number : 132 Question Id : 87827025224 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Dating methods Suitable Fossil types
(A) 24U series (1) Tooth Enamel
(B) Fission Track (II) Coral
(C) Tephro-chronology  (III) Obsidian
(D) ESR (IV) Volcanic deposits

Choose the correct answer from the options given below :
(1) (A1), (B)-1), (O)-(1I), (D)-(IV)

(2)  (A)-(1), (B)-(), (©)-(IV), (D)-(1)

(3) (AU, (B)-(IV), (O)-(), (D)-(11)

(4)  (A)-1V), (B)-(IT), (O)-1D), (D)-()

Options :

87827099565. 1

87827099566. 2

87827099567. 3

87827099568. 4

Question Number : 132 Question Id : 87827025224 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YEAl-1 % H1e Geil-11 1 e #ifs
qeil-1 gEi-11

fafer Frerivor fafa IqRT STATIH Yok
(A) 24U goit () &< 39
(B) T&HEd ¢ (II) =R
(C) Wl ShIATATSH (II) AT
(D) 3.UH.3R. (IV) SSTAHE SHE

= feu v fasreyl § 9 WE 9% 1 999 Hifa

(1) (A)-(1), (B)-(I), (O)-(I1D), (D)-(IV)
(2) (A1), (B)-(IIT), (O)-(IV), (D)-(I)
(3) (A1), (B)-(IV), (O)-(D), (D)-(II)
(4)  (A)-(IV), (B)-(IID), (O)-(1D), (D)-[0)
Options:

87827099565. 1
87827099566. 2
87827099567. 3

87827099568. 4

Question Number : 133 Question Id : 87827025225 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - I List - II
Scholars Field of Expertise
(A) M.R. Sahni ()  Archaeology
(B) R.L. Raikes (II) Palaeontology
(C©) Gurdip Singh (IIT) Hydrology
(D) Ramprasad Chanda (IV) DPalaeo-ecology
Choose the correct answer from the options given below :
(1) (A)-(), (B-(I), (O-(IID), (D)-(V)
(2) (A1), B)-(), (©)-1V), (D)0
(3) (A, (B)-(1), (O-(ID, (D)}-(IV)
(4)  (A)-QV), (B, (©-(), (D)-(I)
Options :
87827099569. 1
87827099570. 2

87827099571. 3

87827099572. 4

Question Number : 133 Question Id : 87827025225 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



GEi-1 % 919 Gei-11 1 faam ifs
i1 geil-11
fagr &r fergerersr

(A) TH.IAR, HEAl () g

(B) XU, T3 () gt fomt
(O T fie (1) wrEgretsi!

(D) THIERE =< (IV) gu ufifeafd fasm

= feu T faereyl ° 9 WE S 1 994 HifU

(1) (A)-(D), (B)-ID), (O)-(I1D), (D)-(IV)
(2) (A1), (B)-(ITT), (O-(IV), (D)-(D)
(3) (A)-(1), (B)-(I), (C)-(1D), (D)-(IV)
(4)  (A)-IV), (B)-(II), (C)-(T), (D)-(IT)
Options:

87827099569. 1
87827099570. 2
87827099571. 3

87827099572. 4

Question Number : 134 Question Id : 87827025226 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

List - I List - II
Temple Style

(A) Chitrakarini (I)  Khakhara

(B) Brahmesvara (I) Pidha

(C) Varahi temple at chaurasi (II) Rekha

(D) Sun temple at Konarka (IV) Panchayatana

Choose the correct answer from the options given below :
(1) (A)-AV), (B)-(1), ©)-(I), (D)-(0)

(2) (A1), (B)-(IV), (Q)-(10), (D)-(II)
(3)  (A1V), (B)-(1L), (C)-(1), (D)-(II)
(4)  (A)-(I), (B)-(II), (C)-(II), (D)-(I1V)
Options :

87827099573. 1
87827099574. 2
87827099575. 3

87827099576. 4

Question Number : 134 Question Id : 87827025226 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % T GeA-11 %1 o wifs
qeit-1 gHi-11

(A) TRl () EEY
(B) SIEIYR () e
(C) <l =l FEl HfeY (1) @
(D) hIumeh 1 g4 HfeX (IV) 9=

= feu U fasredi ° 9 |WEt 39T F1 997 HifSU ;

(1) (A)-1V), (B)- (H) (©)-(I), (D)-(I)
(2)  (A)-(), (B)-(IV), (O, (D)-(I)
(3)  (A)-(IV), (B)-(IM), (O)-I), (D)-(II)
(4)  (A)-(D), (B)}-(IT), (O)-(ID), (D)-(IV)
Options:

87827099573. 1
87827099574. 2
87827099575. 3

87827099576. 4

Question Number : 135 Question Id : 87827025227 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Style Temple
(A) Nagara (I) Muktesvara
(B) Veshara (II) Rajarajeshvara
(C) Dravida (III) Kandariya Mahadeo
(D) Kalinga (IV) Kedaresvara

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(II), (©)-IV), (D)-(D)
(2)  (A)-(UD), (B)-(1V), (O)-11), (D)-()
(3) (A1), (B)-(1), (O-(1), (D)-(IV)
(4) (A1), (B)-(I), (C)-(ID), (D)-(IV)

Options :

87827099577. 1
87827099578. 2
87827099579. 3

87827099580. 4

Question Number : 135 Question Id : 87827025227 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % T GeA-11 %1 o wifs
qeit-1 geEli-11

et HfgT
(A) TR ) HHYR
(B) S (1) TISTean
(C) zfas (III) el Heed
(D) hfcHT (IV) SRR

= feu Tu fasreqi § 9 W& 39 1 F97 HifAU

(1) (A)-(I), (B)-(1), (O)-(IV), (D)-()
(2)  (A)-(I), (B)-(1V), (O)-1), (D)-(0)
(3)  (A)-(10), (B)-(I), (O)-(1), (D)-(IV)
(4)  (A)-(D), (B)}-(IT), (O)-(ID), (D)-(IV)
Options:

87827099577. 1
87827099578. 2
87827099579. 3

87827099580. 4

Question Number : 136 Question Id : 87827025228 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (I) : James Prinsep identified the Brahmi script based on numismatical analysis

Statement (1) : George Turnour identified Ashoka as Piyadasi' based on the Buddhist Ceylonese
Chronicles

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

87827099581. 1
87827099582. 2
87827099583. 3

87827099584. 4

Question Number : 136 Question Id : 87827025228 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) F a0 o 113 T &

(2) TR FR S e &

(3) TR &, Tl o 1l 99 €

(4) TR & ¢, ol o 1 e ¢

Options :



87827099581. 1
87827099582. 2
87827099583. 3

87827099584. 4

Question Number : 137 Question Id : 87827025229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : The early punch-marked coins were cut and and clipped to adjust them into
proper weights

Statement (1) : The punch-marked coins were usually oval shaped

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2
(3) Statement I is correct but Statement II is incorrect
4

Both Statement [ and Statement II are incorrect

Statement I 15 ncorrect but Statement II is correct

Options :

87827099585. 1
87827099586. 2
87827099587. 3

87827099588. 4

Question Number : 137 Question Id : 87827025229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827099585. 1
87827099586. 2
87827099587. 3
87827099588. 4

Question Number : 138 Question Id : 87827025230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The Indian Mesolithic settlements spread to new ecological zones

Reason (R) :  There wasan increase in population because of favourable environment conditions
and technological innovations

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A)is correct but (R) is not correct

(4) (A} is not correct but (R) is correct

Options :



87827099589. 1
87827099590. 2
87827099591. 3

87827099592. 4

Question Number : 138 Question Id : 87827025230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T4 ) % U TUE: T HWRO (Assertion A) % 1 W feff € o 1 35 FOT (Reason R) %
k]

AR (A): A T8 T v 1 e T e o 4 g

FMO(R): T T YRl SR SRR TR o AR e 9 gl

TR % et §, el {0 0 el e 9 A A

(1) () 3R (R) 3 6 € &R (R), (A) 9 ) @0 ¢

() (A) o (R) < 8 &, e (R), (A) 9 ) @ R
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) (A) T & et (R) 7 2
Options :

87827099589. 1
87827099590. 2
87827099591. 3

87827099592. 4

Question Number : 139 Question Id : 87827025231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The levallois technique is an advanced technique of making flake fools
Reason (R): It is named after a site in Germany

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A)is correct but (R) is not correct
(

4)  (A) is not correct but (R) is correct
Options:
87827099593 1
87827099594, 2

87827099595. 3
87827099596. 4

Question Number : 139 Question Id : 87827025231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099593. 1
87827099594, 2
87827099595. 3
87827099596. 4

Question Number : 140 Question Id : 87827025232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (1) : - AMS is fundamentally similar to radiocarbon dating
Statement (11) : AMS measures the concentration of “C in relation to the normal isotope “C.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement Iis correct but Statement II is incorrect
g

Both Statement [ and Statement II are incorrect

Statement [ 15 incorrect but Statement II is correct
Options:

87827099597. 1

87827099598. 2

87827099599. 3

87827099600. 4

Question Number : 140 Question Id : 87827025232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099597. 1

87827099598. 2

87827099599. 3
87827099600. 4

Sub-Section Number : 2
Sub-Section Id : 8782701099
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827025233 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



Read the following paragraph and answer the questions :

Communication skills of a particular group can clearly be taken to have been existing right since
the beginning of permanent life of human beings in succession of the evolution of human civilisation;
when human beings express their feelings through writing, In India we find evidence of the art of
writing existing in the Harappan civilization, but there is a huge void in the contemporary history
attributed to its being undeciphered. Some evidence of writing in chalcolithic cultures and on potsherds
of megalithic monuments are found, which have not been considered as evidence of writing by some
palacographers. Metal box inscription of Piparahwa, bronze plate inscription of Sohgauva and rock
flake mnscription of Mahasthan have been considered earlier to the Ashokan inscriptions.

Sub questions

Question Number : 141 Question Id : 87827025234 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Piparahva metal box inscription has been taken to be the oldest inscription :
(1) On the basis of absense of Laghu Swaras

(2)  On the basis of absence of Dirgha Swaras
(3) On the basis of the theme described
(4)  On the basis of Phrasal verbs (Kreya-padas)

Options :

87827099601. 1
87827099602. 2
87827099603. 3

87827099604. 4

Question Number : 142 Question Id : 87827025235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



n which of the following records (inscriptors) do we find mention of multistory buildings.
1) Piparahva metal box inscription

I
(1)
(2) Sohgaura copper plate mscription
(3) Mahasthan rock flake inscription
(4) Kalasi rock edicts

Options:

87827099605. 1

87827099606. 2

87827099607. 3

87827099608. 4

Question Number : 143 Question Id : 87827025236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Which of the following archaeological sites is located in India at present ?

(1) Mahasthan
Shahbaj gadhi

)
) Anuradha pur
) Kalasi

(2
3
(4
Options :

87827099609. 1
87827099610. 2
87827099611. 3

87827099612. 4

Question Number : 144 Question Id : 87827025237 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Currently Piparahva is located in :

(1) Gorakhpur district, Uttar Pradesh

(2) Devaria district, Uttar Pradesh

(3) Siddharth nagar district, Uttar Pradesh
(4) Kushi nagar district, Uttar Pradesh

Options:
87827099613. 1
87827099614. 2

87827099615. 3

87827099616. 4

Question Number : 145 Question Id : 87827025238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which of the following texts do we find mention of the term ‘Lipi" (Script) for the first time ?
(1) Vinay Pitak

(2) Lalit Vistar
()
4

—_—

3) Ashtadhyayi

4)  Divyavadan

Options :

87827099617. 1
87827099618. 2
87827099619. 3

87827099620. 4

Question Id : 87827025233 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 87827025234 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TIUEa Y1 -HSe1 o =l WrEHaE e q9H=1 T ¢
(1) oY @& o HAYE & SHTER

(2) e @R ok SE & SER

(3) aftfd fama & smuro

(4) Toron 9] o 319TE & SER

Options :

87827099601. 1
87827099602. 2
87827099603. 3

87827099604. 4

Question Number : 142 Question Id : 87827025235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freferfed o 9 forg stfvera 4 sgAfSier worl o1 Seord e € 2
(1) TouReen g w5 oE
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(3) UM forel-erk orE
(4) HIeE fecTE
Options:
87827099605. 1
87827099606. 2

87827099607. 3
87827099608. 4

Question Number : 143 Question Id : 87827025236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafad § 9 s [Wgd gefd, YR H g2

(1) HerH

(2) VRS el

(3) SAFUETYL

(4) wHIE!
Options :

878270996009. 1
87827099610. 2
87827099611. 3
87827099612. 4

Question Number : 144 Question Id : 87827025237 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
fqutgan adaH o erafied § ¢
(1) TREY S9g 34

(
(3) TUGIYTR S Ug 3W.
(

Options :

87827099613. 1
87827099614. 2
87827099615. 3

87827099616. 4

Question Number : 145 Question Id : 87827025238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafeas § 9 frg vy o gdyem ‘faft’ e 1 oo faea €2

(1) fo fres
(2) eAferd far&r
(3) STl
(4) feoamEEH
Options :

87827099617. 1
87827099618. 2
87827099619. 3

87827099620. 4

Sub-Section Number : 3
Sub-Section Id : 8782701100

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Id : 87827025239 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (146 to 150)

Question Label : Comprehension

Read the following paragraph and answer the questions :

Right simce beginm’ng [ndia had been connected with the rest of the world through commercial
activities. One finds sufficient evidence of it in the Harappan civilization.

India was actively engaged in commercial dealings with the rest of the world which finds adequate
mention in the contemporary and the latter iteracy accounts. The remains obtained from archaeological
excavations also corroborate the said facts. Mathura, Peshavar, Ujjaini, Kaushambi and Pataliputra
were the major towns of this period as an evidence of the art of writing by some of the paleographists.

Inscriptions on metal-box, writings on copper plates and rocks edicts obtained from piparahva,
Sohgaura and Mahasthan have been considered to be dating back to pre Ashoka period inscriptions.

Sub questions

Question Number : 146 Question Id : 87827025240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following commodities were not included in the goods exported from India to South
East Asia ?

(1) Cotton textile

2)  Chinese beads

Options :

87827099621. 1
87827099622. 2
87827099623. 3

87827099624. 4



Question Number : 147 Question Id : 87827025241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following towns was not existing in the mid Gangetic plains during 200 BC to 300
AD?

(1) Mathura

2
3
(4

) Mahoday Nagar
) Kaushambi

) Pataliputra
Options :
87827099625. 1
87827099626. 2
87827099627. 3

87827099628. 4

Question Number : 148 Question Id : 87827025242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following ancient ports was not located on the eastern coast ?
(1) Algan Kalam

(2) Arikamedu

(3) Kaveri pattanam

(4) Koddamnal
Options :

87827099629. 1
87827099630. 2
87827099631. 3

87827099632. 4



Question Number : 149 Question Id : 87827025243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following was a port (harbour) town ?
(1) Paithan

(2) Tagada

(3) Kalliena

(4) Minnanagar
Options :

87827099633. 1
87827099634. 2
87827099635. 3

87827099636. 4

Question Number : 150 Question Id : 87827025244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

From which one of the following Mesopotamian cities, seals of Harappan civilization have not
been reported ?

(1) Hama
(2) Repe Gabara
(3) Nippur

(4) Magan
Options :
87827099637. 1
87827099638. 2
87827099639. 3

87827099640. 4



Question Id : 87827025239 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 87827025240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
aferor g&f wfven 1 sRd | a1 saret axgel 8 @ @ o
(1)

(2) = A
(3) HW
(4) TEHIS
Options :

87827099621. 1
87827099622. 2
87827099623. 3

87827099624. 4

Question Number : 147 Question Id : 87827025241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0
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Options :

87827099625. 1
87827099626. 2
87827099627. 3

87827099628. 4

Question Number : 148 Question Id : 87827025242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fefefEd = a<amel § 9 SF g6l 92 W T8l stafd o1 ?
(1) A o™

(2) fRTg
(3) el TTH
(4) HIZSHIA

2
Options :

87827099629. 1
87827099630. 2
87827099631. 3

87827099632. 4

Question Number : 149 Question Id : 87827025243 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fr=fafEd 0 9 FF U F<8g T a1 ?

(1) UeH

(2) el

(3) AT

(4) THTR
Options :

87827099633. 1
87827099634. 2
87827099635. 3
87827099636. 4

Question Number : 150 Question Id : 87827025244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

geuq TRl st g frefafad | 9 forg Hemerfieg R 8 w7 el €2
(1) &

(2) W

(3) FR
(4) HM
Options :
87827099637. 1
87827099638. 2

87827099639. 3
87827099640. 4



